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N #H R Ok = oK B OB O E OB B # & = GAIID 20114
K4 - MR A o — &S )11 W) |4 020-01 )11 EidRliil 020-51
HooxXoo- K . s o HiKa-p 1 7Ka=p R MRS HE 1 HiKa-p 1 7Ka=p R MRS HE 2
WO - E R MM - RO #E feu) TERIYIH] n FREAE 74 f-ei] A ERYIH] n FREAEL 74
FHEEEI-L - 4 B - A 950 7111 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT T e/ M S KA m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m(k) /n x/y ki 75%{i
5 | i & m's 0.910 0.072 5.500 / 12 / 12 0.110 0.0018 0. 430 / 5 / b
Tk R T 15.5 3.8 28.5 /12 /12 15.1 6.9 24.2 / 6] / 6
SE B B cm 49.0 46.0 > 50.0 / 12 / 12 > 50.0 > 50.0 > 50.0 / 6 / 6
p H - 1.5 1.2 7.8 0/12[0/ 12 1.5 1.6 1.2 6.9 1.4 0/ 6(0/ 6 1.3 1.4
D O mg/l 11.0 8.4 15.0 0/12[0/ 12 11.0 9.2 9.7 8.2 11.0 0/ 6/0/ 6 9.8 9.4
4 |B e} D| mg/ 2.1 0.8 3.2 6/ 12[6 /12 2.1 2.5 1.2 0.6 1.7 0/ 6(0/ 6 1.1 1.5
iE | C o D| mg/l 5.6 3.3 11.0 / 12 / 12 5.1 6.2 2.5 1.6 4.4 / 6 / 6 2.3 2.7
S S| mg/l 8. 1. 18. 0/12[0/ 12 6. 11. 3. 1. 5. 0/ 6(0/ 6 3. 4.
AP L7 i3 %%/ MPN/100mI 2. 1xE+4 7.9 xE+2 5. 4xE+4|11 / 12|11 / 12 1.1 xE+4 3.5 xXE+4 1.1xE+4 7.9 xE+2 b.4xE+4| 5/ 6/ 5/ 6 1.9 xE+3 4.9 XE+3
Hin- ~ % & o i il & mgl ND ND ND / 1 / 1] ND ND / /
CRE = # mg/l 2.10 1.50 2.80 / 12 / 12 2.00 2.40 / /
£ | mg/l 0.170 0.110 0. 380 / 12 / 12 0.140 0.180 / /
S i $i  mg/l / / / /
7 F s © A mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 o A (N fli )| mgl / / / /
t & mg/l / / / /
W K R’ mg/l / / / /
T v F L ok 4R mgl / / / /
p c B mg/l / / / /
Y 7 w ow * & v mgl / / / /
Moo b g F mgl / / / /
g lL2e- ¥ 7 mom = & v mgl / / / /
LI-Y 7 woo=xF L ml / / / /
Blva-1,2-v  Jeuwzxfvy mgl / / / /
CLL,1- b ) s e w by mgl / / / /
HiLe- v ) 78wz ) v mol / / / /
U 7 vne=xF L mgl / / / /
H—'frﬁyuu::a‘—v‘/ mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
= v B A mgh / / / /
P2 < P > mgll / / / /
F A+ X v B A 7| mgl / / / /
~ P2 + > mgll / / / /
+ % > mgll / / / /
AT / / / /
5 = | mgll / / / /
13 > % mgll / / / /
7 = /) — L E mgl / / / /
k53 £ mg/l / / / /
P gn mg/l / / / /
W g ( w % ) mg/l / / / /
Rl v % v (% mH%) mg/l / / / /
7 I 2 mgll / / / /
b2 F# A 7 > mgi 13.2 6. 21. / 12 / 12 13.5 16. 7.13 4.7 10. / 6 / 6 6. 65 9.1
M B A S| mgll 0.01 0.01 0.02 / 4 / 4 0.01 0.01 / /
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
- / / / /
H / / / /
H / / / /
/ / / /
/ / / /




=

N #H B OK B O K B A O F OB B #£ # =X GAIID 20114
K4 - MR A o — &S Bl JIRKIAE 026-01 Bl ] )k 026-51
#eOox - ok - #oH 4 M Hi -} 1 Ka-} R iAo 1 Hi -} 1 Ka-} R A5 HE 2
WO - E R MM - RO #E feu) TERIYIH] 1 FREAE 75 f-ei] A ERYIH] 1 FREAEL 75
FEFEE-N 4 TR - & 950 )11k 973 IR (= ot r 2 —) 950 )11 973 ERMIMAHER (v a2k 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT TR fiE e/ M [EoN m(k)/n| x/y ki 75%{F TEE e/ M [EON m (k) /n x/y ki 75%{i
5 | i & m's 0.220 0.012 1.000 / 12 / 12 0.021 0. 004 0.037 / 2 / 2
Tk R T 15.1 5.7 25.8 /12 /12 16.6 5.7 26.0 / 6] / 6
SE B £ cm 50.0 45.0 > 50.0 / 12 / 12 > 50.0 > 50.0 > 50.0 / 6 / 6
p H - 1.4 1.2 8.1 0/12[0/ 12 1.4 1.4 1.6 1.3 8.6 1/ 6|1/ 6 1.5 1.5
D O mg/l 11.0 9.3 14.0 0/12[0/ 12 10.0 9.7 12.0 9.0 14.0 0/ 6/0/ 6 12.0 10.0
4 |B e} D| mg/ 1.0 < 0.5 2.5 1/1211 /12 0.7 1.1 1.4 0.6 2.3 1/ 6|1/ 6 1.4 1.9
iE | C o D mg/l 2.3 1.3 3.7 / 12 / 12 2.0 2.7 2.4 1.2 3.2 / 6 / 6 2.7 3.0
S S| mgl 1. < 1. 5. 0/12[0/ 12 1. 1. 1. < 1. 3. 0/ 6(0/ 6 1. 1.
AP A i3 %%/ mPN/100mI 2.1 xE+3 7.9 xE+0 b.4xE+3| 6 / 12| 6 / 12 1.1 xE+3 3.5 XE+3 1.1xE+4 2.4 xE+2 5. 4xE+4| 5/ 6| 5/ 6 3.0XE+3 4.9 XE+3
- ~ % % o~ i th ® B mgl / / / /
CRE %= #*| mgll 0.49 0.29 0.99 / 12 / 12 0.39 0.57 / /
£ | mg/l 0.017 0.008 0.035 / 12 / 12 0.014 0.017 / /
£ i $ mgll / / / /
H K 2 v Al mg/l < 0.001 < 0. 001 < 0. 001 0/ 1o/ 1 / /
ES v 7 > mgll ND ND ND 0/ 110/ 1 / /
i) mg/l < 0. 005 < 0. 005 < 0. 005 0/ 110/ 1 / /
7o om o A (N i) mg/l < 0.02 < 0.02 < 0.02 0/ 110/ 1 / /
E F&| mg/l < 0. 005 < 0. 005 < 0. 005 0/ 110/ 1 / /
W K R mgl/l < 0. 0005 < 0. 0005 < 0.0005 {0/ 1[0/ 1 / /
7 L % Kk # mgh | ND ND ND 0/ 110/ 1 / /
P C B mgll ND ND ND 0/ 110/ 1 / /
Y 7 w ow * & v mgl < 0.002 < 0. 002 < 0.002 0/ 110/ 1 / /
] i it 23 # mg/l < 0. 0002 < 0. 0002 < 0.0002 {0/ 1[0/ 1 / /
L2 ¥ 7 v oa = % v myl < 0. 0004 < 0. 0004 < 0.0004 fO/ 1[0/ 1 / /
LI-Y 7 o =xF L mgl < 0.002 < 0.002 < 0.002 0/ 110/ 1 / /
WV A-L2-v Jowozfvy mgl < 0. 004 < 0.004 < 0.004 |0/ 110/ 1 / /
CLL1- b s mom oz oy mgll < 0. 0005 < 0. 0005 < 0.0005 {0/ 1]0/ 1 / /
HiLe- v ) 78wz ) v mol < 0. 0006 < 0. 0006 < 0.0006 {0/ 1[0/ 1 / /
U 7 vne=xF L mgl < 0.002 < 0. 002 < 0.002 0/ 110/ 1 / /
R FEF 7oz F Ly myl < 0. 0005 < 0. 0005 < 0.0005 [0/ 1]0/ 1 / /
L,3-v Jww7 oA’y mgl < 0. 0002 < 0. 0002 < 0.0002 {0/ 1]0/ 1 / /
7 v 7 Al mg/ < 0. 0006 < 0. 0006 < 0.0006 [0/ 1]0/ 1 / /
P4 < P4 > mgl/l < 0. 0003 < 0. 0003 < 0.0003 {0/ 1[0/ 1 / /
F A+ X v B A 7| mgl < 0.002 < 0. 002 < 0. 002 0/ 110/ 1 / /
~ > ¥ > mgll < 0. 001 < 0.001 < 0. 001 0/ 110/ 1 / /
+ % > mgil < 0.002 < 0. 002 < 0.002 0/ 110/ 1 / /
momEES LT e 0.28 0.28 0.28 |0/ 1|0/ 1 / /
5 ) F&| mg/l < 0.08 < 0.08 < 0.08 0/ 110/ 1 / /
[ES bl | mgll < 0.10 < 0.10 < 0.10 0/ 110/ 1 / /
7 = 7 — L E ml / / / /
I il mg/l / / / /
e # moh / / / /
H gk (. w f % ) mg/l / / / /
Bil= v v (% M) | mgh / / / /
s o 2 mgl / / / /
b2 F# 1 7 > mgi 5.31 4.4 6.7 / 12 / 12 5.15 5.5 6.68 5.4 10. / 6 / 6 5.95 1.
/ / / /
/ / / /
/ / / /
/ / / /
. / / / /
/ / / /
» / / / /
i / / / /
f’\ / / / /
H / / / /
/ / / /
/ / / /




N X B XKk # K B OB T # B £ B = Gal 20114E

K Bk 4 o A Mo — &S ) ) 027-01 ) A 027-51
Ho X Koo- Hom M HiKa-p 1 7Ka=p R HiLS S HEH 1 HiKa-p 1 7Ka=p R HiLS S HEH 2
oA EOoR WO - o FEE feu) A TERIYIH] 1 FREAE 75 f-ei] A ERYIH] 1 FREAEL 75
FHEEEI-L - 4 B - A 950 711k 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
I =S S S SN S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT T e/ M [EoN m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m(k) /n x/y ki 75%{i
5 | i & m's 0. 780 0.030 2.100 / 11 / 11 0.130 0.023 0.330 / b / b
H [k wooc 17.0 1.5 26.2 /12| /12 16. 6 6.3 26.2 / 6] / 6
SE B £ cm > 50.0 > 50.0 > 50.0 / 12 / 12 49.0 44.0 > 50.0 / 6 / 6
p H - 1.3 6.9 7.9 0/12[0/ 12 1.4 1.4 1.5 1.3 1.8 0/ 6(0/ 6 1.4 1.5
D O mg/l 11.0 9.3 14.0 0/12[0/ 12 11.0 10.0 11.0 8.0 13.0 0/ 6/0/ 6 11.0 10.0
4 |B e} D| mg/ 1.5 < 0.5 3.9 4 /12| 4/ 12 1.1 2.1 1.1 < 0.5 2.1 1/ 6|1/ 6 1.0 1.4
iE | C o D mg/l 2.1 1.1 3.9 / 12 / 12 1.9 2.5 2.1 1.3 3.2 / 6 / 6 2.2 2.3
S S| mgl 1. < 1. 3. 0/12[0/ 12 1. 1. 3. < 1. 12. 0/ 6/0/ 6] < 1. < 1.
AP A i3 %%/ mPN/100mI 1.2xE+4 2. 3XE+1 b.4xE+4| 9 /121 9 / 12 4.2 XE+3 1.6 xE+4 2.6 XE+3 1.7xE+2 5 4xE+3| 4/ 6|4/ 6 2. 3XE+3 5.4 xE+3
Hin- ~ % & o i il & mgl ND ND ND / 1 / 1] ND ND / /
P %= #*| mgll 1.30 0.83 2.10 / 12 / 12 1.30 1.50 / /
ES | mg/l 0.028 0. 005 0. 065 / 12 / 12 0.027 0.035 / /
& i $ mgll / / / /
7 F s v 4 mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 om A (N fti )| mgll / / / /
E % mgll / / / /
W K £ mgll / / / /
T v F L ok 4R mgl / / / /
P C B mgll / / / /
Y 7 w ow * & v mgl / / / /
Mmoo b R % mgll / / / /
g lL2e- ¥ 7 mom = & v mgl / / / /
LI-Y 7 woo=xF L ml / / / /
Bva-L2-v  Jewzfly mgl / / / /
LL1= b ) 7 e w Y mgll / / / /
HiLL,e- b ) 7 v v x4y mgl / / / /
U 7 vne=xF L mgl / / / /
At ssaaz7v ] mgl / / / /
L,3-v Jww7 oA’y mgl / / / /
¥ v 7 A mg/ / / / /
P4 < v > mgll / / / /
F A+ X v B A 7| mgl / / / /
~ v £ > mgl/l / / / /
+ v > mgil / / / /
o e S
W e / / / /
5 = | mgll / / / /
[E P #  mo/l / / / /
7 = /) — L E mgl / / / /
L i) mg/l / / / /
B | gn mg/l / / / /
W g (. w f % ) mg/l / / / /
Rl v % v (% mH%) mg/l / / / /
7 [} 2 mgll / / / /
b2 F# 1 7 > mgi 8.43 5.2 12. / 12 / 12 8.45 9.4 7.98 5.9 11. / 6 / 6 7.85 8.1
M B A S| mgll 0.01 < 0.01 0.02 / 4 / 4 0.01 0.01 / /
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
= / / / /
H / / / /
= / / / /
/ / / /
/ / / /




N X B XKk # K B OB T # B £ B = Gal 20114E

K 4 MR 4 - MR — & E L@ ARG T 028-02 L@ 1 A 028-65
Hox oo ok - M R 4 HiKa-p 1 7Ka=p R HiLS S HEH 1 HiKa-p 1 7Ka=p R HiLS S HEH 2
MR - ok WM - OE E SR A R AT 1 HERE A 75 R A R AT 1 HERE A 75
Lol e N I A Y 1. EE N 950 71|15 973 RFHIMAMER (v 22 bk & —) 950 7)1 Ik 973 RFIMAMER (22 bk 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— i H B FEfiE /Ml PN m(k)/n| x/y [N 5% FEIfE /Ml PN m(k)/n | x/y [N 75%{E
5 | i & m's 0.140 0.0012 0. 840 / 12 / 12 0.027 0. 0025 0. 091 / 4 / 4
H [k wooc 15.2 6.7 27.8 /12| /12 17.6 9.0 27.4 / 6] / 6
SE B £ cm 43.0 9.0 > 50.0 / 1 / 11 > 50.0 > 50.0 > 50.0 / 6 / 6
p H - 1.5 1.3 7.8 0/12/ 0/ 12 7.6 1.6 1.2 7.0 1.4 0/ 6{0/ 6 1.3 1.3
D O mg/l 9.8 6.6 13.0 1/1211 /12 9.8 9.4 8.4 5.5 11.0 2/ 6|12/ 6 9.3 5.6
% |B o D| mgll 1.1 < 0.5 1.9 0/12/ 0/ 12 1.0 1.2 1.0 < 0.5 1.5 0/ 6|0/ 6 1.0 1.2
iE | C o D mg/l 2.8 1.3 5.7 / 12 / 12 2.6 3.4 1.8 0.6 2.6 / 6 / 6 1.7 2.6
B[S s| mgll 1. < 1. 36. 1/12[1 /12 2. 4. 2. < 1. 6. 0/ 6/{0/ 6 1. 2.
AP A i3 %%/ mPN/100mI 6.1xE+3 1.3xE+2 b.4xE+4| 6 / 12| 6 / 12 1.1 xE+3 2.4 xE+3 1.4 xE+3 1.3xE+2 3.5xE+3| 3/ 6/ 3/ 6 9.7XE+2 2.4 xXE+3
- ~ % % o~ i th ® B mgl / / / /
P %= #*| mgll 0.71 0.49 1.10 / 12 / 12 0.67 0.79 / /
& i mg/ 0.033 0. 005 0.092 /12| /12 0.019 0. 045 / /
& i $ mgll / / / /
7 N 3 v A mgll < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1 / /
ES v 7 > mgll ND ND ND 0/ 110/ 1 / /
& mg/l < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
s m A& (N fi )| mgh < 0.02 < 0.02 < 0.02 0/ 110/ 1 / /
= # mg/ < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
W K R mgl/l < 0. 0005 < 0. 0005 < 0.0005 {0/ 1[0/ 1 / /
7 L % Kk # mgh | ND ND ND 0/ 110/ 1 / /
P C B mgll ND ND ND 0/ 1o/ 1 / /
Y 7 w v % % ] mgl < 0.002 < 0. 002 < 0.002 |0/ 110/ 1 / /
] i it 23 #*| mgll < 0. 0002 < 0. 0002 < 0.0002 {0/ 1[0/ 1 / /
@lL2- ¥ 7 v = & v mgl < 0.0004 | < 0.0004 | < 0.0004 [0/ 1]0/ 1 / /
LI-Y 7 o =xF L mgl < 0.002 < 0. 002 < 0.002 0/ 110/ 1 / /
WV A-L2-v Jowozfvy mgl < 0. 004 < 0.004 < 0.004 |0/ 110/ 1 / /
CLL1- b s mom oz oy mgll < 0. 0005 < 0. 0005 < 0.0005 {0/ 1]0/ 1 / /
HiLL,e- b ) 7 v v x4y mgl < 0.0006 | < 0.0006 | < 0.0006 [0/ 1]0/ 1 / /
U 7 vne=xF L mgl < 0.002 < 0. 002 < 0.002 0/ 110/ 1 / /
R v anxzsL v mg/l < 0.0005 | < 0.0005 | < 0.0005 [0/ 1]0/ 1 / /
L3-v Jew7 oA’y mgl < 0. 0002 < 0. 0002 < 0.0002 {0/ 1]0/ 1 / /
¥ v 7 4 mgll < 0.0006 | < 0.0006 | < 0.0006 [0/ 1]0/ 1 / /
P4 < P4 > mgll < 0. 0003 < 0. 0003 < 0.0003 [0/ 1[0/ 1 / /
F A+ X v o o 7 mgl < 0.002 < 0. 002 < 0.002 [0/ 1]0/ 1 / /
~ > ¥ > mgll < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1 / /
+ v > mgll < 0.002 < 0. 002 < 0.002 [0/ 1]0/ 1 / /
momEES LT e 0.39 0.39 0.39 |0/ 1fo/ 1 / /
5 - F# mgl 0.24 0.24 0.24 0/ 110/ 1 / /
[ES bl | mgll < 0.10 < 0.10 < 0.10 0/ 110/ 1 / /
7 = 7 — v F mgl / / / /
I il mg/l / / / /
e # moh / / / /
gk (@ fg v ) | mol / / / /
Hlve v v (W te) | mgl / / / /
s = 2 mgl / / / /
AR S 4 *+ > mgll 7.99 5. 11. /12| /12 1.7 10. 1.77 7. 8.2 / 6] / 6 7.85 8.2
M B A S| mgll / / 0.01 0.01 0.01 / 2 / 2 0.01 0.01
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
i / / / /
ﬁ / / / /
= / / / /
/ / / /
/ / / /




N # A K B XK B B T £ B £ GALn 20114
K% 4 w4 - HEOR R — B FR)I FIIIPN 029-01 HEHI JUNRRT/ TS 030-01
Hh g Koo R 4 M HupKa-} K=} R Hus oY HupKa=} 1 K=}
H COEE R WM - FROE E O utl FERIIH] 1 FREARHE utl A FERIIH]
FHEEEI-L - 4 B - A 950 711k 973 RMBAEREE (27 5ty 4 —) 950 71| 973 RIMMAERE (27 5ty 4 —)
i Sy Bk KT PR FAKIE 0.0 m PR 0 FAKIE 0.0 m
— MET A HLAT T i/ M SR m(k/n| x/y gfiE 75 T [ToN m (k) /n gfiE 750t
5 B om'/s 0. 360 0. 064 0. 960 / 1 / 1 0.021 0.099 / 12
o |k T 16.8 4.8 29.4 /12| /12 15.6 4.2 21.5 / 12
B B £ cm 49.0 45.0 50.0 /12 /12 50.0 > 0.0 50.0 / 12
p H - 1.5 1.3 1.1 0/1210/ 12 1.5 1.6 1.8 1.4 8.7 1/ 12 7.6 1.8
D O mgll 8.6 6.3 1.0 0/1210/ 12 8.4 7.6 11.0 1.9 13.0 0/ 12 11.0 10.0
7 |B [®) D| mgll 2.0 1.0 3.2 0/1210/ 12 1.9 2.2 1.3 0.5 2.3 1/ 12 1.2 1.6
iEC o D mgll 5.7 2.9 12.0 /12 /12 4.7 1.2 2.8 1.6 5.7 / 12 2.2 2.9
BSs S| mg/l 6. 2. 13. 0/1210/ 12 6. 1. 3. < 1 9. 0/12 2. 4.
EAPN B % mPN/ooml 2.4 xE+4 3.5 XE+3 5. 4xE+4| /12| /12 1.9 xE+4 3.5 xE+4 9.2%E+3 5.4xE+4| 8 / 12 2.6 xE+3 7.9 xE+3
- ~ % % o~ i th ® B mgl / / /
CHE ES | mg/ 1.90 0.82 2.50 /12 /12 1.80 2.30 1.50 2.10 / 12 1.60 1.80
ES . mg/l 0. 200 0.120 0.410 /12| /12 0.170 0.220 0.076 0.210 / 12 0. 065 0.074
& i # mg/l / / /
7 3 v A mgll / / < 0. 001 < < 0. 001 0/ 1[0
g v 7 >~ mgh / / ND ND ND 0/ 1]0
i mg/l / / < 0. 005 < < 0.006 |0/ 1[0
7 L (A ffi ) | mgll / / < 0.02 < < 0.02 0/ 1]0
= F# mg / / < 0. 005 < < 0.006 |0/ 1[0
#a K R mg/l / / < 0.0005 | < < 0.0005 |0/ 1]0
7 * v Kk mgn / / ND ND ND 0/ 1[0
P C B mg/ / / ND ND ND 0/ 1]0
v v om A & v mgl / / < 0. 002 < < 0.002 |0/ 1[0
] ft I # mg/ / / < 0.0002 | < < 0.0002 |0/ 1]0
e |1, 7 v oo = % v mgl / / < 0.0004 | < < 0.0004 |0/ 1[0
1, unexF L mgl / / < 0.002 < < 0.002 |0/ 1]0
By 2~y Juwwzfvy mgl / / < 0. 004 < < 0.004 O/ 1[0
L IIEEERNEE / / < 0.0005 | < < 0.0005 |0/ 1]0
o, IR / / < 0.0006 | < < 0.0006 | 0/ 1[0
. ~ 7/ mowu = F L v mgl / / < 0.002 < < 0.002 |0/ 1]0
FFZ7mruvF L] ml / / < 0.0005 | < < 0.0005 | 0/ 1[0
L3-v Jmw7 wa oy mgl / / < 0.0002 | < < 0.0002 |0/ 1]0
Ea 7 7 A mgll / / < 0.0006 | < < 0.0006 | 0/ 1[0
v ~ v > mg/l / / < 0.0003 | < < 0.0003 0/ 1]0
Ea N v o 7] mgl / / < 0. 002 < < 0.002 |0/ 1[0
~ Dz ¥ > mg/l / / < 0. 001 < < 0. 001 0/ 1]0
+ v > mgll / / < 0. 002 < < 0.002 |0/ 1[0
" b Y mon / / 0.12 0.12 |o/ 1]o
5 - F% mg/l / / 0.13 0.13 0/ 1[0
[ B F mgl / / 0.10 < 0.10 0/ 1]0
7 J — A F mgl / / /
R k0l mg/l / / /
B | | mgll / / /
H gk woOfE Mk ) | mol / / /
B = v (¥ fig tE) | mgll / / /
7 [} 2 mgll / / /
[ 1 *+ v mgll 3010. 13. 13000. /12| /12 1350. 3300. 24.2 6.1 39. / 12 12 25. 30.
M B A S| mgl/l / / 0.02 < 0.0 0.03 / 4 4 0.01 0.01
/ / /
/ / /
/ / /
s / / /
/ / /
» / / /
. / / /
) - J
: T /
/ / /
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N #H B OK B O K B A O F OB B #£ # =X GAIID 20114
K4 - MR A o — &S eI KR 030-51 FR) EiPNi] 031-01
Hox oo ok - M R 4 HiKa-p 1 7Ka=p R HiLS S HEH 2 HiKa-p 1 Ka=}" R HiLS S HEH 1
WO - E R MM - RO #E f =g A TERIYIH] n FREAE 75 f-ei] C ERYIH] 1 FREAEL 75
FEFEE-N 4 TR - & 950 7111 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 2 FAKIE 0.0 m

— MEEA BT TR fiE e/ M [EoN m(k)/n| x/y ki 75%{F TEE e/ M [EON m (k) /n x/y ki 75%fE

5 | i B om’/s 0.078 0. 001 0.210 / 6 / 6 0.130 0.0012 1.700 / 14 / 10

Tk R T 15.3 6.8 24.0 / 6 / 6 16.9 6.4 29.5 /24| /12

SE B B cm > 50.0 > 50.0 > 50.0 / 6 / 6 50.0 42.0 > 50.0 / 24 / 12
p H - 1.5 1.2 1.1 0/ 6/0/ 6 1.5 1.5 1.4 7.1 8.1 0/24(0 /12 1.4 1.4
D O mg/l 9.9 8.4 11.0 0/ 60/ 6 9.8 9.3 7.0 3.0 19.0 7/243/12 6.3 5.0

4 |B e} D| mg/ 1.1 0.6 1.4 0/ 6/0/ 6 1.2 1.3 4.7 2.1 8.3 8 /2414 /12 4.8 5.3

iE | C o D mg/l 2.2 1.6 2.8 / 6 / 6 2.2 2.6 1.1 5.2 12.0 / 24 / 12 7.1 9.0

S S| mgl 1. < 1. 2. 0/ 610/ 6] < 1. 1. 5. 2. 12. 0/24(0 /12 4. 5.

AP A i3 %%/ mPN/100mI 1.8xE+4 1. 1xE+2 9.2xE+4| 4/ 6/ 4/ 6 3.4 xXE+3 7.9 xE+3 1.3 xE+b 4.9 XE+3 2.4 xE+5 / 24 / 12 1.3xE+b 1. 7xE+b

- ~ % % o~ i th ® B mgl / / / /

EHPN S # mg/l / / 3.90 1.90 6.10 / 12 / 12 3.90 4.70
£ | mg/l / / 0.510 0.210 1.000 / 12 / 12 0. 490 0. 540
£ i $ mgll / / / /

H K 2 v Al mg/l / / < 0. 001 < 0.001 < 0. 001 0/ 110/ 1
S v 7 > mgl/l / / ND ND ND 0/ 110/ 1

i) mg/l / / < 0. 005 < 0. 005 < 0. 005 0/ 110/ 1
e ) mg/l / / < 0.02 < 0.02 < 0.02 0/ 110/ 1
E F&| mg/l / / < 0. 005 < 0. 005 < 0. 005 0/ 110/ 1
i K R mgl/l / / < 0. 0005 < 0. 0005 < 0.00056 |0/ 110/ 1
7 L x ok & mgl / / ND ND ND 0/ 1fo/ 1
P C B mg/l / / ND ND ND 0/ 110/ 1
Y 7 w ow * & v mgl / / < 0.002 < 0.002 < 0.002 0/ 110/ 1
] i it 23 #  mgll / / < 0. 0002 < 0. 0002 < 0.0002 |0/ 1]0/ 1

L2 ¥ 7 v oa = % v myl / / < 0. 0004 < 0. 0004 < 0.0004 O/ 110/ 1
LI-Y 7 o =xF L mgl / / < 0.002 < 0.002 < 0.002 0/ 110/ 1

By a-L,2-v Jrevzfry mgl / / < 0.004 < 0. 004 < 0. 004 0/ 110/ 1

CLL1- b s mom oz oy mgll / / < 0. 0005 < 0. 0005 < 0.0005 |0/ 110/ 1

HiLe- v ) 78wz ) v mol / / < 0. 0006 < 0. 0006 < 0.0006 |O/ 1]0/ 1
U 7 vne=xF L mgl / / < 0.002 < 0.002 < 0.002 0/ 110/ 1

R FEF 7oz F Ly myl / / < 0. 0005 < 0. 0005 < 0.0005 |0/ 1]0/ 1
L,3-v Jww7 oA’y mgl / / < 0. 0002 < 0. 0002 < 0.0002 10/ 110/ 1
Vi % 7 Al mg/ / / < 0. 0006 < 0. 0006 < 0.0006 |0/ 1]0/ 1
P4 < P4 > mgll / / < 0.0003 < 0. 0003 < 0.0003 10/ 110/ 1
F A+ X v B A 7| mgl / / < 0.002 < 0.002 < 0. 002 0/ 110/ 1
~ > + > mgl/l / / < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1
+ % > mgil / / < 0.002 < 0. 002 < 0.002 0/ 110/ 1
momEES LT e / / 0.47 0.47 0.47 |0/ 1{0o/ 1
5 ) F|  mg/l / / 0.17 0.17 0.17 0/ 110/ 1
[E3 9 3| mgl/l / / < 0.10 < 0.10 < 0.10 0/ 110/ 1
7 = 7 — v F mgl / / / /

k53 £ mg/l / / / /

e # moh / / / /

Hoge  ( @m fg M ) | mgll / / / /

Hiw v 7 v (% @) | mgl / / / /

7 =1 2 mgll / / / /
b2 F# 1 7 > mgi 8.3 6.6 9.8 / 6 / 6 8.45 8.9 279. 12. 1900. / 24 / 12 175. 300.
/ / / /
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /

» / / / /

i / / / /

H / / / /

H / / / /

/ / / /
/ / / /
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A # B ok o # K B M T O#£ R K B =% Ga) 2011 4E
KK 4 - H A & - MR e — & 5] asilll KKK 001-01 W BT 002-01
MoK - ok - M R s ] R 2 AKa=h* R 5K 1 HKa-} 2 AKa=h* R 5y 1
O - B OBk MO - 8 OE F SR n PR 70 breu) E SR n PR 70
FEERI-N & SHHEEBA-L - &l 01 me 901 Al 901wt 901 Al
WA X s - ok kW RERY 2 AR 0.0 m XS 2 AR 0.0 m
- WETE (i TFHE Jie/IMiE KT m()/n] x/y LA 5% EEE S/ KT m()/n | x/y GESE 5%
|7k B /s / / 1.500 0. 640 2.500 /12| /12
H ok wC 19.2 6.6 28.6 / 25 / 13 18.4 6.8 28.4 / 25 / 13
B # | om 39.0 16.0 > 500 /24 /12 46.0 23.0 > 50.0 /24| /12
p H - 1.1 1.3 8.2 0/24/07/12 7.6 7.9 8.3 7.3 9.6 8/ 244 /12 8.4 8.6
D o mg/l 6.7 3.9 8.9 0/24/0/12 6.8 6.3 12.0 8.1 18.0 0/24(07/ 12 1.0 9.8
4 B [ D mg/l 2.7 1.2 3.6 0/24/07/12 3.0 3.5 4.1 1.7 8.6 0/24[07/12 3.1 5.7
& [C o) D mg/l 8.5 5.9 1.0 /24 /12 8.4 9.7 7.5 4.9 15.0 /24| /12 6.6 7.1
B s s/ mgl 11. 5. 38. /24 /12 10. 11. 7. 3. 15. /24| /12 7. 10.
AP A i3 %%/ mPN/100mI 1.3xE+b 4.5 XE+2 9.2 xE+5 / 24 / 12 6.2 xXE+4 1.7xE+b 1.1xE+b 1.3 xE+3 9.2 xE+5 / 24 / 12 5.5 xE+4 9.0xE+4
Hin- ~ % & >~ it % & mgl | ND ND ND / 1|/ 1| ND ND ND ND ND / 1|/ 1| ND ND
CHE = % mgl 3.10 2.00 4.40 /12| /12 2.80 3.60 3.80 2.60 6.20 /12| /12 3.80 3.90
£ B mgn 0. 340 0.180 0. 460 /12 /12 0. 340 0. 380 0. 330 0.210 0. 830 /12| /12 0. 280 0.310
& il s mgll 0.024 0.011 0.036 / 2| /2 0.024 0.036 0.037 0.009 0. 065 /2| /2 0. 037 0. 065
7 F X v A mgl < 0. 001 < 0. 001 < 0.001 [0/ 2[0/ 2 < 0.001 < 0.001 < 0.001 [0/ 2[0/ 2
& v 7 > mgn | ND ND ND 0/ 2(0/ 2 ND ND ND 0/ 2[0/ 2
o mg/l 0. 006 < 0.005 0.007 [0/ 2/0/ 2 < 0. 005 < 0.005 < 0.005 |0/ 2|0/ 2
7w & (A ffi )| mgl < 0.02 < 0.02 < 0.02 0/ 2/0/ 2 < 0.02 < 0.02 < 0.02 0/ 2(0/ 2
t % mgn < 0. 005 < 0. 005 < 0.005 [0/ 2/0/ 2 < 0. 005 < 0.005 < 0.005 |0/ 2|0/ 2
@ K | mg/ < 0.0005 [ < 0.0005 | < 0.0005 [0/ 2/0/ 2 < 0.0005 | < 0.0005 | < 0.0005 |0/ 2[00/ 2
7 L * Kk mgl / / / /
P C B| mgl | ND ND ND 0/ 20/ 2 ND ND ND 0/ 2[0/ 2
Y 7 v v A & o mgh < 0. 002 < 0.002 < 0.002 [0/ 2/0/ 2 < 0. 002 < 0.002 < 0.002 |0/ 2|0/ 2
MmO b B # mgll < 0.0002 | < 0.0002 | < 0.0002 [0/ 2/0/ 2 < 0.0002 | < 0.0002 | < 0.0002 |0/ 2[00/ 2
e ¥ 7 v om = ¥ o myl < 0.0004 [ < 0.0004 | < 0.0004 [0/ 2|0/ 2 < 0.0004 | < 0.0004 | < 0.0004 |0/ 2[0/ 2
LI-Y 7 unxF L mgl < 0. 002 < 0.002 < 0.002 [0/ 2[0/ 2 < 0. 002 < 0. 002 < 0.002 |0/ 2[0/ 2
Y A-L2-v Jonzfyy mgl < 0.004 < 0.004 < 0.004 [0/ 2[00/ 2 < 0. 004 < 0.004 < 0.004 |0/ 2[0/ 2
CLLI- b ) 7w oa oz y v mgh < 0.0005 | < 0.0005 | < 0.0005 [0/ 2/0/ 2 < 0.0005 | < 0.0005 | < 0.0005 |0/ 2[00/ 2
HiLL,2- b )/ nwz 4 v ml < 0.0006 | < 0.0006 | < 0.0006 [0/ 2/0/ 2 < 0.0006 | < 0.0006 | < 0.0006 |0/ 2[00/ 2
KU 7 maxF L mgl < 0. 002 < 0. 002 < 0002 [0/ 2/0/ 2 < 0.002 < 0.002 < 0.002 |0/ 2[0/ 2
Hlg v s 7oz myl < 0.0005 | < 0.0005 | < 0.0005 [0/ 2[00/ 2 < 0.0005 | < 0.0005 | < 0.0005 |0/ 2[00/ 2
L3-v Joen7 s~y mgll < 0.0002 | < 0.0002 | < 0.0002 [0/ 2/0/ 2 < 0.0002 | < 0.0002 | < 0.0002 |0/ 2[00/ 2
PR v Z A mgll < 0.0006 | < 0.0006 | < 0.0006 [0/ 2/0/ 2 < 0.0006 | < 0.0006 | < 0.0006 |0/ 2[00/ 2
> 2 5 > mgll < 0.0003 | < 0.0003 | < 0.0003 |0/ 2|0/ 2 < 0.0003 | < 0.0003 | < 0.0003 |0/ 2[00/ 2
F F N v g A 7 moh < 0. 002 < 0. 002 < 0.002 [0/ 2/0/ 2 < 0. 002 < 0.002 < 0.002 |0/ 2|0/ 2
~ v + > mgll < 0. 001 < 0. 001 < 0.001 [0/ 2/0/ 2 < 0. 001 < 0. 001 < 0.001 |0/ 2[0/ 2
+ v > mghl < 0. 001 < 0. 001 < 0.0001 [0/ 2/0/ 2 < 0. 002 < 0.002 < 0.002 |0/ 2|0/ 2
oo . 2 my 1.80 1.00 260 [0/ 2[0/ 2 0.71 0.7 o7 o/ 1]o/ 1
& B # mgn 0.19 0.11 0.27 0/ 2(0/ 2 0.1 < 0.08 0.12 0/ 2(0/ 2
3 P % mgl 0.53 0.11 0.95 0/ 210/ 2 < 0.10 < 0.10 < 0.10 0/ 20/ 2
7 = 7 — o % mgll < 0.02 < 0.02 < 0.02 0/ 2] / 2 < 0.02 < 0.02 < 0.02 0/ 2| / 2
P 8l mo/l 0.02 < 0.01 0.02 2/ 2 / 2 < 0.04 < 0.04 < 0. 04 2/ 2| /2
B |1 # mo/ / / / /
Hige (% e M ) | mgl 0.09 0.08 0.09 2/ 2 / 2 0.10 0.08 0.12 2/ 2| /2
Hie v v (%M tE)| mgl < 0.4 < 0.4 < 0.4 0/ 2| / 2 < 0.4 < 0.4 < 0.4 0/ 2| / 2
Y e 2 mgll < 0.02 < 0.02 < 0.02 0/ 2| / 2 < 0.02 < 0.02 < 0.02 0/ 2| / 2
B %® A4 4 o] mgl 4000. 24. 15000. /24 /12 4000. 6600. 22.2 11. 48. /24| /12 17.5 25.5
M B A S mgl 0.02 < 0.01 0.02 / 2| /2 0.02 0.02 0.02 < 0.01 0.02 /2| /2 0.02 0.02
/ / / /
/ / / /
/ / / /
il / / / /
/ / / /
o / / / /
- / / / /
H / / / /
H / / / /
/ / / /
/ / / /
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N H R XK =B K B OB OF O£ B # B =% G 20114 E
K 4 o 4 Hi R R — FF Al A kY 003-01 Fagka IKIEHE 004-01
HooxXoo- K . om0 sy X a-} 2 7Ka=}p" R i 1 Hh X a-} 2 7Ka=}p" R i ] 1
WOR - i oR MO - B oE o mm R n St 70 e E R n St 70
T ERI-L - 4 - SIHEB-L - 4| 01 g 901 FkaTT 901 kAT 901 FkaT
WoE K - & Kk kR 2 AR 0.0 m Py 2 AR 0.0 m
- TR BifE B TE TRIE mo/n] <7y TR T I TNE TRIE n/n ] /v TR ol
5 i B om’/s / / / /
Tk B T 17.2 6.3 28.6 /% /13 17.8 5.8 2.5 /5| /13
A& i B om 46.0 24.0 > 50.0 / 24 / 12 47.0 26.0 > 50.0 / 24 / 12
5 uo - 7.7 7.4 8.2 0/ 24/ 0/12 7.8 7.9 7.8 7.2 9.0 5/ 240 /12 7.8 8.1
D O mg/l 7.0 2.2 12.0 0/ 240/ 12 1.5 5.0 9.1 3.9 15.0 0/ 240/ 12 8.9 8.5
4 B ) D mgl 3.7 0.9 11.0 1/ 241 /12 2.8 3.4 1.8 0.8 3.7 0/24[0/12 1.4 1.7
iE | C O D| mg/l 8.5 4.6 21.0 / 24 / 12 6.8 8.0 5.8 2.7 11.0 / 24 / 12 5.0 6.0
B s s/ mgl 3. < 1 16. /2| /12 2. 3. 6. <1 2. Jul /12 5. 7.
f‘i X ] i3 44 MPN/100mI 1.1xE+5 1.1xE+3 5. 4 xE+5 / 24 / 12 5.8 xE+4 1.4 xE+5 3. TxE+4 6.8 xE+2 2. 4 xE+5 / 24 / 12 2.1 xE+4 4.1 xE+4
Bl ~ % % o B % E mgd | ND ND ND /Al /7 1| W ND ND ND ND /1l /7 1w ND
EHPN S # mg/l 2.40 0. 86 5.70 / 12 / 12 2.10 2.90 1.70 0.52 3.20 / 12 / 12 1.70 1.80
% B mgl 0.270 0.110 1.000 /12| /12 0.170 0.240 0.120 0.047 0. 250 /12| /12 0.083 0.180
S ifi 0 mg/l 0.130 0.029 0.230 / 2 / 2 0.130 0.230 0.016 0.007 0. 025 / 2 / 2 0.016 0.025
% F s 5 & mgl | <0000 | < 0000 | < 000 [0/ 20/ 2 <0001 | < o000 | < 000 [0/ 2[0/ 2
4 P2 T > mgl/l ND ND ND 0/ 20/ 2 ND ND ND 0/ 20/ 2
% mgl | < 0006 | < 0005 | < 0005 |0/ 20/ 2 < 0005 | < 0005 | < 0005 |0/ 2[0/ 2
VAR =TRN (X fti ) mg/I < 0.02 < 0.02 < 0.02 0/ 20/ 2 < 0.02 < 0.02 < 0.02 0/ 20/ 2
£ % mgl | < 0005 | < 0005 | < 0005 |0/ 20/ 2 <0005 | < 0005 | < 0005 |0/ 2[0/ 2
#w 7K R mg/l < 0. 0005 < 0. 0005 < 0.0005 [0/ 2{0/ 2 < 0. 0005 < 0. 0005 < 0.0005 |0/ 2(0/ 2
7 L * Kk mgl / / / /
P C B mg/l ND ND ND 0/ 20/ 2 ND ND ND 0/ 20/ 2
Y 7 w w A % o ml | < 0002 | < 0002 | < 0002 |0/ 200/ 2 < 0002 | < 0002 | < 0002 |0/ 2[0/ 2
] i 1t 23 # mg/l < 0. 0002 < 0. 0002 < 0.0002 {0/ 2{0/ 2 < 0. 0002 < 0. 0002 < 0.0002 |0/ 2(0/ 2
@wLe- v 7 mom = % o mgl | <  0.0004| < 00004 < 0.0004|0/ 2/0/ 2 < 0.0004 | < 00004 | < 000040/ 2[0/ 2
LI-Y 7 o =xF L mgl < 0.002 < 0.002 < 0. 002 0/ 20/ 2 < 0.002 < 0.002 < 0.002 0/ 20/ 2
Belya Lo v Juwzfvy mgl | < 0.004 | < 0004 | < 0004 |0/ 2[0/ 2 < 0004 | < 0004 | < 0004 |0/ 2[0/ 2
L= b ) ez p oy mgll < 0. 0005 < 0. 0005 < 0.0005 [0/ 2[{0/ 2 < 0. 0005 < 0. 0005 < 0.0005 |0/ 2(0/ 2
WLl + ) 7w s =4y mgl | < 0.0006| < 0.0006| < 00006|0/ 2[0/ 2 < 0.0006 | < 00006 | < 000060/ 2[0/ 2
U 7 vne=xF L mgl < 0.002 < 0. 002 < 0. 002 0/ 20/ 2 < 0.002 < 0.002 < 0.002 0/ 20/ 2
Bl S 7uaun=50v ml | < 0.0005| < 0.0005| < 0.0005|0/ 2/0/ 2 < 0.0005| < 00005 | < 00005 |0/ 2[0/ 2
L,3-v Jww7 oA’y mgl < 0. 0002 < 0. 0002 < 0.0002 {0/ 210/ 2 < 0. 0002 < 0. 0002 < 0.0002 |0/ 2(0/ 2
7 5 5 2 mg! | < 0.0006 | < 0.0006 | < 0.0006 |0/ 2|0/ 2 < 0.0006 | < 0.0006 | < 00006 0/ 2[0/ 2
P2 < D2 > mgll < 0. 0003 < 0. 0003 < 0.0003 {0/ 2{0/ 2 < 0.0003 < 0. 0003 < 0.0003 |0/ 2(0/ 2
F o+ ~ v o & 7 mgl | < 0002 | < 0002 | < 0002 [0/ 20/ 2 <0002 | < 0002 | < 0002 |0/ 2[0/ 2
~ P2 b > mgl/l < 0. 001 < 0. 001 < 0. 001 0/ 20/ 2 < 0. 001 < 0. 001 < 0. 001 0/ 20/ 2
= 3 “ mgt | < 0002 | < 0002 | < 0002 |0/ 2[0/ 2 <0002 | < 0002 | < 0002 |0/ 2[0/ 2
oot E R RO 0.57 0.57 057 [0/ 1fo/ 1 0.67 0.67 0.67 [0/ 10/ 1
oW W M = R : : : : : :
5 = % mgi 0.1 < 0.08 0.1 [0/ 2[0/ 2 < 0.08 < 0.08 < 008 |0/ 2[0/ 2
|E3 9 #  mgl/l < 0.10 < 0.10 < 0.10 0/ 20/ 2 < 0.10 < 0.10 < 0.10 0/ 210/ 2
> = U = & H ml | <00 < 0.02 <002 [0/ 2] /2 < 0.02 < 0.02 <002 [0/ 2] /2
i EG) mg/l < 0.04 < 0.04 < 0.04 2/ 2 / 2 < 0.04 < 0.04 < 0.04 2/ 2 / 2
# | s mgil / / / /
I gk ( ®w M % ) mg/l 0.16 0.16 0.16 2/ 2 / 2 0.22 0.16 0.27 2/ 2 / 2
Al > 7> (M) mol | < 0.4 < 0.4 < 0.4 0/ 2| / 2 < 0.4 < 0.4 < 0.4 0/ 2| / 2
7 = 2 mgll < 0.02 < 0.02 < 0.02 0/ 2 / 2 < 0.02 < 0.02 < 0.02 0/ 2 / 2
B % 4 % o mgl 4.5 0. 100. 2 /12 6.5 6.5 77.4 0. 62. 7 AY 243 7.
M B A S| mgll 0.03 0.02 0.03 / 2 / 2 0.03 0.03 0.01 < 0.01 0.01 / 2 / 2 0.01 0.01
/ / / /
/ / / /
/ / / /
ft / / / /
/ / / /
2 / / / /
. A A
A / / / /
. YA YA
/ / / /
/ / / /
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N #H R Ok = oK B OB O E OB B # & = GAIID 20114
K 4 o A o — &S AN Lk I i 005-01 F AU Lt JI i 005-70
HooxXoo- K . s o HiKa-p 2 7Ka=p R MRS HE 1 HiKa-p 2 7Ka=p R MRS HE 2
WM. ok MO - 5 oE E oK mm s 4 SRR 70 s A s 4 SRR 70
FHEEEIL A P-4 901 At 901 mEtati 901 At 901 mati
N R S S S TR XSy 2 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT T e/ M [EoN m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m (k) /n x/y ki 75%{i
5 | i B om’/s 1. 400 0.100 2. 600 / 12 / 12 1.700 0. 340 2.500 / 6 / 6
Tk wooc 16.0 5.1 25.8 /28] /16 14.3 5.6 23.7 / 6] / 6
SE B £ cm 48.0 20.0 > 50.0 / 24 / 12 > 50.0 > 50.0 > 50.0 / 6 / 6
p H - 8.2 1.6 8.9 4. /2411 /12 8.2 8.3 8.1 1.8 8.8 1/ 6|1/ 6 8.0 8.2
D O mg/l 11.0 8.7 15.0 0/24{0/ 12 10.0 9.6 11.0 8.8 12.0 0/ 6/0/ 6 11.0 9.4
4 |B e} D| mg/ 0.9 0.6 1.7 0/24[0/ 12 0.8 0.9 0.9 0.5 1.3 0/ 6(0/ 6 1.0 1.3
iE | C o D mg/l 3.3 2.2 4.5 / 24 / 12 3.2 3.7 3.1 2.2 3.7 / 6 / 6 3.1 3.4
S S| mgl 3. < 1. 16. 0/24[0/ 12 2. 2. 2. < 1. 2. 0/ 6(0/ 6 2. 2.
AP A i3 %%/ mPN/100mI 1.1xE+4 2.3xE+2 4.9xE+4[20 / 24[10 / 12 5. 7XxE+3 1.5 xE+4 6.1xE+3 6.8 xE+2 1.7xE+4] 4/ 6/ 4/ 6 5.6 XE+3 7.0 xE+3
Hin-~ % % > Mt E mol ND ND ND /1 / 1] ND ND ND ND ND / 1 / 1] ND ND
CRE %= #*| mgll 0.85 0.37 1.30 / 12 / 12 0.91 1.00 0.69 0.31 1.00 / 6 / 6 0.72 0.82
£ | mg/l 0.058 0.003 0.470 / 12 / 12 0.026 0.028 0.016 0.011 0.022 / 6 / 6 0.014 0.020
ES iffi f mg/l 0.003 0.001 0. 004 / 2 / 2 0.003 0.004 0.003 0.002 0. 004 / 2 / 2 0.003 0.004
7 F s v 4 mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 m A& (A~ i )| mgl / / / /
= F# mgn / / / /
W K £ mgll / / / /
7 v F v ok R mgl / / / /
P C B| mgll / / / /
Y s v v % % | mgl / / / /
W b o FE mgl / / / /
wlLe- ¥ 7 mow = ¥ o mgl / / / /
LI-Y 7 woo=xF L ml / / / /
Bva-L2-v  Jewzfly mgl / / / /
LL1= b ) 7 e w Y mgll / / / /
HiLL,e- b ) 7 v v x4y mgl / / / /
U 27 v xF L mgl / / / /
L = A= PR mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
¥ v 7 A mg/ / / / /
D < D | mgll / / / /
F o+ X v B A 7 mgl / / / /
~ v + > mgll / / / /
+ % > mgll / / / /
AT / / / /
5 > F# mgn / / / /
13 > % mgll / / / /
7 = 7 — v F mgl / / / /
L £l mg/l / / / /
e ) mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Hlve v v (W te) | mgl / / / /
7 [} 2 mgll / / / /
b2 F# 1 7 > mgi 12.3 4. 19. / 24 / 12 11.5 14. 12.3 8. 17. / 6 / 6 13. 14.
M B A S| mgll < 0.01 < 0.01 < 0.01 / 2 / 2] < 0.01 < 0.01 / /
M)~ om oy B R R mgll 0.033 0.023 0.044 / 4 / 4 0.033 0.038 / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
i / / / /
H / / / /
= / / / /
/ / / /
/ / / /




N £ B K =B XK B B E £ B # & = Gan 20114
K% 4 w4 - MR — & F ATt [ 006-01 EREIINE E2di 007-01
Hh g Koo MOS0 HuKa-} Aa-p Hus oY HXKa-p 2 Aa-p R Hus AR
H COEEORR MR - HOE utl FERIIH] FREARE utl FERIIH] 1 FRERRE
LSRR I A K 1 ER 901 kAT 901 mfaTH 901 wfah
i - Bk K PR PRI P Xy 2 PRI 0.0 m
— MET A HLAT T i/ M I KA x/y gfiE 75 M i/ M [ToN m (k) /n x/y gfiE 75
B | B om'/s 1.700 0. 002 3. 000 / 1 1.700 0.900 2.900 /12 /12
o |k W T 18.2 6.6 29.7 / 12 18.3 6.1 29.7 /241 /12
B B L cem 44.0 9.0 50.0 / 12 40.0 8.5 50.0 /24| /12
p H - 8.5 7.4 9.8 / 2415/ 12 8.4 8.9 7.8 1.5 8.2 0/ 24{0 /12 1.8 7.8
D O mgll 11.0 7.4 18.0 / 24[ 0 / 12 12.0 9.6 9.4 1.3 12.0 1/24)10/ 12 9.3 8.2
7 |B o D mg/l 1.7 0.7 6.3 /2411 /12 1.3 1.4 8.3 1.5 6.2 15 / 247 / 12 2.4 4.9
iE[C [¢) D mgll 4.3 1.6 1.0 /24 /12 3.8 4.6 8.3 5.7 10.0 /24| /12 8.6 9.7
BSs S| mgll 9. 1. 65. /2411 /12 5. 1. 11. 2. 51. 2 /2411 /12 1. 15.
AP ) [ | mPN/100mI 3.0xE+4 0.0xE+0 2.4xE+5|13 / 24| 8 / 12 1.1 xE+4 2.6 XE+4 1.9 xE+5 1.7xE+4 1.6 xE+6[24 / 24{12 / 12 1.2 xE+5 2.3XE+b
Hin- ~ % & o i il & mgl / 1 / 1] ND ND / 1 / 1[ND
P %= | mg/ 1.40 0.39 3.00 /12 /12 1.00 1.90 2.30 1.10 3.90 /12| /12 2.10 2.70
ES . mg/l 0.120 0. 060 0.340 /12| /12 0.098 0.110 0.310 0.170 0. 490 /121 /12 0. 300 0.370
& i §n mgll 0.010 0. 002 0.017 /2 /2 0.010 0.017 0.019 0. 006 0.031 /2l /2 0.019 0. 031
7 N v A mg/ / / / /
S v 7 > mgl/l / / / /
25} mg/l / / / /
7 L (N ffi ) | mg/l / / / /
E % mgll / / / /
# K § mg/ / / / /
7 X v Kk SR mgl / / / /
P [¢ B| mg/ / / / /
D2 2 v A % v mgl / / / /
] ft I #  mo/l / / / /
|1 s mom o= % v mgl / / / /
1, oo xS L mgl / / / /
BE Y 2-v  Juwwzx¥vy mgl / / / /
L1 )y w om oz 4 v mgl / / / /
L, IR / / / /
k /7 v oo x F L v mgl / / / /
Re 1 57ea=70ry mi / / / /
L,3-v Jww7 oA’y mgl / / / /
= v B A mgh / / / /
P2 < P > mgll / / / /
Ea X v o v 7 mgl / / / /
~ P2 + > mgll / / / /
+ % > mgil / / / /
5 = | mgll / / / /
[E3 5 #  mo/l / / / /
7 = v mgl / / / /
3 $hl mg/l / / / /
Pk | | mgll / / / /
gk wofg tE ) | mgll / / / /
Rl v (U 7 ¥E) [ mgl Vi / 7 /)
7 o 2 mgll / / / /
B 4 7+ > mgll 15.9 1. 34. /24l /12 14. 18.5 21.7 14. 43. /24 /12 22. 25.
M B A S| mgll 0.01 0.01 0.01 /2?2 /2 0.01 0.01 0.02 < 0.01 0.02 /2] /2 0.02 0.02
/ / / /
/ / / /
/ / / /
s / / / /
/ / / /
» / / / /
- YA YA
H / / / /
. YA YA
/ / / /
/ / / /




N X B XKk # K B OB T # B £ B = Gal 20114E

Kk 4 Mo A - HOR R — & F AHN T 9B i 008-01 AU EE 1 1 5HRASHER 021-02
HooxXoo- K . s o HiKa-p 2 7Ka=p R MRS HE 1 HiKa-p 2 7Ka=p R MRS HE 1
WO - E R MM - RO #E f =g B TERIYIH] 1 FREAE 70 f-ei] B ERYIH] n FREAE 74
FHEEEI-L - 4 B - A 901 mfaTH 901 wfah 901 mfaTH 901 wfah
N R S S S TR XSy 2 FAKIE 0.0 m TR XSy 2 FAKIE 0.0 m
— MEEA BT T e/ M S KA m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m (k) /n x/y ki 75%{i
5 | i & m's 2.100 0.730 3.300 / 12 / 12 0.500 0.063 1.100 / 12 / 12
Tk R T 18.3 6.0 30.1 /28] /16 18.6 6.1 30.7 /24| /12
SE B B cm 31.0 12.0 > 50.0 / 24 / 12 43.0 12.0 > 50.0 / 24 / 12
p H - 8.1 1.5 10.0 2/ 2401/ 12 8.0 8.1 8.4 1.8 9.3 6 /2414 /12 8.3 8.6
D O mg/l 10.0 6.8 23.0 0/24{0/ 12 9.3 8.2 10.0 1.2 14.0 0/24(0/ 12 9.8 7.9
4 |B e} D| mg/ 4.5 2.0 17.0 14 /24 7 / 12 3.4 4.2 2.2 0.9 3.5 4 /2412 /12 2.0 2.7
iE | C o D mg/l 9.8 6.6 20.0 / 24 / 12 8.8 10.0 7.6 4.4 14.0 / 24 / 12 7.3 8.0
S S| mgl 13. 5. 26. 1/ 24 / 12 11. 16. 11. < 1. 39. 3/2411 /12 1. 17.
AP L7 i3 %%/ MPN/100mI 1.4 xE+5 2.0xE+2 9.2xE+5|22 / 24[11 / 12 7.5 xE+4 1.0xE+b 7.5 xE+4 6.8 xE+2 3.5 xE+b[17 / 24[11 / 12 3.9xE+4 6.7xE+4
Hin-~ % % > Mt E mol ND ND ND /1 / 1] ND ND ND ND ND / 1 / 1] ND ND
CRE = #*| mgll 2.70 1.10 6.00 / 12 / 12 2.60 3.00 1.20 0.53 1.90 / 12 / 12 1.30 1.30
£ | mg/l 0.370 0. 260 0.630 / 12 / 12 0.330 0. 400 0.150 0.064 0. 330 / 12 / 12 0.120 0.200
ES iffi f mg/l 0.019 0. 006 0.031 / 2 / 2 0.019 0.031 0.024 0. 006 0.042 / 2 / 2 0.024 0.042
7 F s v 4 mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 om A (N fti )| mgll / / / /
t & mg/l / / / /
W K R’ mg/l / / / /
T v F L ok 4R mgl / / / /
P C B mgl / / / /
Y 7 w ow * & v mgl / / / /
Moo fe gk F# mgl / / / /
g lL2e- ¥ 7 mom = & v mgl / / / /
LI-Y 7 woo=xF L ml / / / /
Blva-1,2-v  Jeuwzxfvy mgl / / / /
CLL,1- b ) s e w by mgl / / / /
HiLe- v ) 78wz ) v mol / / / /
U 7 vne=xF L mgl / / / /
H:;rﬁyuu::a‘—v‘/ mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
= v B A mgh / / / /
P2 < P > mgll / / / /
F A+ X v B A 7| mgl / / / /
~ P2 + > mgll / / / /
+ % > mgll / / / /
A TR g
AT / / / /
5 = | mgll / / / /
13 > % mgll / / / /
7 = /) — L E mgl / / / /
k53 £ mg/l / / / /
P gn mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Hi= v % v (% M%) mg / / / /
7 [} 2 mgll / / / /
b2 F# 1 7 > mgi 23.3 10. 53. / 24 / 12 21. 21. 26. 1 5. 45, / 24 / 12 28.5 29.5
M B A S| mgll 0.02 < 0.01 0.02 / 2 / 2 0.02 0.02 0.01 < 0.01 0.01 / 2 / 2 0.01 0.01
M)~ om oy B R R mgll 0.083 0. 054 0.11 / 4 / 4 0. 085 0. 096 / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
- / / / /
H / / / /
H / / / /
/ / / /
/ / / /




=

N #H R Ok = oK B OB O E OB B # & = GALn 20114
Kk 4 - MR 4 o — &S ol )G 022-01 ol LG 022-51
HooxXoo- K . s o HiKa-p 2 7Ka=p R MRS HE 1 HiKa-p 2 7Ka=p HiLS S HEH 2
WM - R MM - f5oE EoE Em R o IR 74 Y B KR IR 74
K-} - 4 - ST a- - 4 901 EEATH 901 kAT 950 )11 973 RFIMAMER (22 bk 2 —)
N R S S S TR XSy 2 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT T e/ M S KA m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m (k) /n x/y ki 75%{i
5 | i & m's 1.200 0. 050 2. 600 / 12 / 12 0.260 0. 057 0. 440 / 4 / 4
Tk R T 18.5 5.2 28.6 /24 /12 16.9 6.0 27.1 / 6] / 6
SE B B cm 30.0 11.0 > 50.0 / 24 / 12 > 50.0 > 50.0 > 50.0 / 6 / 6
p H - 8.5 1.6 9.6 9 /245 /12 8.4 8.7 1.1 1.4 8.1 0/ 6(0/ 6 1.6 1.8
D O mg/l 12.0 7.8 20.0 0/24{0/ 12 12.0 9.6 10.0 7.8 12.0 0/ 6/0/ 6 10.0 9.1
4 |B e} D| mg/ 5.7 2.2 13.0 17 /24| 9 / 12 3.9 8.0 2.9 1.5 4.4 3/ 6/3/ 6 3.3 3.7
iE | C o D mg/l 10.0 5.8 18.0 / 24 / 12 9.0 10.0 5.4 3.8 1.5 / 6 / 6 4.9 7.0
S S| mgl 12. 5. 25. 0/24[0/ 12 10. 15. 6. 3. 13. 0/ 6(0/ 6 5. 1.
AP L7 i3 %%/ MPN/100mI 7.2xE+4 2.0xE+2 2.4xE+5|17 / 24 9 / 12 3.0xE+4 1.2xE+b 9.6 xE+4 5.4 xE+3 2.4xE+5| 6/ 6/ 6/ 6 7.3 xE+4 1.6 XE+b
Hin-~ % % > Mt E mol ND ND ND /1 / 1] ND ND ND ND ND /1 / 1] ND ND
CRE = #*| mgll 2.50 1.10 4.70 / 12 / 12 2.50 3.20 / /
£ | mg/l 0.310 0.240 0.420 / 12 / 12 0.290 0. 360 / /
ES iffi f mg/l 0.008 0.003 0.013 / 2 / 2 0.008 0.013 / /
7 F s v 4 mgl / / / /
ES v 7 > mgl/l / / / /
ﬁ:\ mg/l / / / /
7 om A (N fti )| mgll / / / /
E % mgll / / / /
W K £ mgll / / / /
7 v F A K R mgl / / / /
P c B mgl / / / /
Y 7 w ow * & v mgl / / / /
Moo fe gk F# mgl / / / /
g lL2e- ¥ 7 mom = & v mgl / / / /
LI-Y 7 woo=xF L ml / / / /
Bva-L2-v  Jewzfly mgl / / / /
LL1= b ) 7 e w Y mgll / / / /
HiLL,e- b ) 7 v v x4y mgl / / / /
U 7 vne=xF L mgl / / / /
H:;rﬁyuu::a‘—v‘/ mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
= v B A mgh / / / /
P2 < P > mgll / / / /
F A+ X v B A 7| mgl / / / /
~ P2 + > mgll / / / /
+ % > mgil / / / /
W e / / / /
5 = | mgll / / / /
[E3 > % mgll / / / /
7 = /) — L E mgl / / / /
k53 i) mg/l / / / /
P gn mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Rl v % v (% mH%) mg/l / / / /
7 [} 2 mgll / / / /
b2 F# 1 7 > mgi 21.3 14. 37. / 24 / 12 20.5 21. 14.2 8.4 25. / 6 / 6 13.5 15.
M B A S| mgll 0.02 < 0.01 0.02 / 2 / 2 0.02 0.02 0.04 0.02 0.05 / 2 / 2 0.04 0.05
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
- / / / /
H / / / /
H / / / /
/ / / /
/ / / /




N X B XKk # K B OB T # B £ B = Gal 20114E

K 4 Mo A - HOR R — & F Bl KEHE 022-65 FR)I EENIE 023-01
Hox oo ok - M R 4 HiKa-p 2 7Ka=p R MRS HE 2 HiKa-p 2 7Ka=p R MRS HE 1
MR - ok WM - OE E SR B R AT 1 HERE A 74 SR B R AT 1 HERE A 74
FTEERI-L - 4 SRR - & 950 71|15 973 RMMARE (S as 5ty 2 —) 901 kAT 901 Ffa
L . S Py 0 AR 0.0 m T X Sy 2 AR 0.0 m
— i H B T /Ml [eND m()/n | x/y [N 75%fiE FEfif /Ml PN m(k)/n [ x/y [N 75%(E
5 | i & m's 0. 062 0.0015 0.210 / 5 / 5 0.530 0.077 2.500 / 12 / 12
H [k wooc 17.5 6.3 29.2 / 6] / 6 18.2 5.4 30.0 /21| /15
SE B £ cm 43.0 26.0 > 50.0 / 6 / 6 34.0 10.0 > 50.0 / 25 / 13
p H - 8.2 1.5 9.3 2/ 62/ 6 8.0 8.7 7.9 1.5 8.9 1/2410 /12 7.9 8.1
D O mg/l 13.0 10.0 20.0 0/ 60/ 6 12.0 12.0 10.0 6.7 15.0 0/24(0 /12 9.8 8.8
% |B o D| mgll 3.8 1.8 8.0 3/ 6/3/ 6 88 4.4 2.8 1.5 5.0 8 /244 /12 2.6 3.3
iE | C o D mg/l 6.5 4.3 10.0 / 6 / 6 5.8 8.4 7.8 6.5 11.0 / 24 / 12 1.5 7.8
B[S s| mgll 8. 3. 15. 0/ 6/0/ 6 8. 8. 13. 4. 40. 3/ 241/ 12 10. 14.
AP A i3 %%/ mPN/100mI 1.2xE+4 1. 1xE+2 3.bxE+4[ 4/ 64/ 6 1.0xE+4 1.3 xE+4 4.7xE+4 2.0 xE+2 2.2xE+5[12 / 24| 7 / 12 6.5 XE+3 5.9xE+4
Hin- ~ % % > it % B mgl [ ND ND ND /1 / 1] ND ND ND ND ND / 1 / 1[ND ND
EHPN = #*| mgll / / 0.92 0.33 1.90 / 12 / 12 0.87 1.10
& i mg/ / / 0. 150 0.099 0. 250 /121 /12 0.130 0.190
ES i f mg/l / / 0.003 0. 002 0.003 / 2 / 2 0.003 0.003
H K g v Al mgi / / / /
ES v 7 > mgl/l / / / /
0 mg/l / / / /
7 o A (N fli )| mgl / / / /
= # mol / / / /
@ ER i mgll / / / /
T v F L ok 4R mgl / / / /
P C B mg/ / / / /
Y s v v % % | mgl / / / /
] H oMb B FE mgll / / / /
L2 ¥ 7 v oa = % v myl / / / /
LI-Y 7 woo=xF L ml / / / /
Bva-L2-v  Jewzfly mgl / / / /
LL1= b ) 7 e w Y mgll / / / /
HiLL,e- b ) 7 v v x4y mgl / / / /
U 27 v xF L mgl / / / /
S YT mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
Vi % 7 Al mg/l / / / /
D < D | mgll / / / /
F o+ X v B A 7 mgl / / / /
~ Dz ¥ > mg/l / / / /
+ % > mgll / / / /
o e S
B s / / / /
5 > # mol / / / /
13 > % mgll / / / /
7 = 7 — v F mgl / / / /
L £l mg/l / / / /
e ) mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Bl v v Cwmtt) | mgl / / / /
7 [} 2 mgll / / / /
AR S A *+ > mgll 14. 1.1 22. / 6] / 6 14.5 15 17.7 2. 30. /25| /13 17.5 21.
M B A S| mgll / / 0.02 < 0.01 0.02 / 2 / 2 0.02 0.02
RN / / 0.082 0.07 0. 091 / 4 / 4 0.083 0.084
/ / / /
/ / / /
it / / / /
/ / / /
» / / / /
- / / / /
H / / / /
= / / / /
/ / / /
/ / / /
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KB 4o MR 4 - MR R — F S ) TG 011-01 )1 EIAE 012-01
Hox oo ok - M R 4 H1 X a-p 3 Ka=}" R HiLS S HEH 1 1 a-p 3 Ka=}" R HiLS S HEH 1
WMOAL - B ORR WM - FROE O utl A FERIIH] 1 FREARHE n utl A FERIIH] 1 FRIEARHE il
FHEEEI-L - 4 B - A 950 711k 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MET A HLAT T i/ M SR m(k/n| x/y gfiE 75 M i/ M [ToN m()/n | x/y gfiE 75
5 | i & m's 0.170 0.0076 0. 500 / 6 / 6 2. 600 2.300 3.100 / b5 / b
o |k W T 15.3 4.2 26.0 /12| /12 16.8 4.5 28.5 /121 /12
SE B £ cm 50.0 46.0 > 50.0 /12 / 12 48.0 39.0 > 50.0 / 12 / 12
p H - 7.3 7.0 1.5 0/1210/ 12 1.4 7.4 1.5 1.2 9.0 1/12]11 /12 1.4 7.4
D O mg/l 9.9 7.1 12.0 2/12[2/ 12 9.9 8.9 10.0 7.1 14.0 1/12[1 /12 9.9 8.7
7 |B o D| mgll 1.2 < 0.5 2.1 1/12[1 /12 1.2 1.4 2.0 < 0.5 4.0 1/1217 /12 2.3 2.4
iE | C o D mg/l 4.1 2.2 6.0 /12 / 12 3.9 4.8 4.4 1.4 6.8 / 12 / 12 4.7 5.7
BSs s| mgll 4. < 1. 12. 0/1210/ 12 2. 4. 6. 2. 12. 0/12[0/ 12 1. 8.
AP A i3 %%/ mPN/100mI 2.1 xE+4 3.5 XE+2 9.2xE+4|10 / 12|10 / 12 2. 0xXE+3 1.7xE+4 1.1xE+4 3.5 XE+2 5. 4xE+4] 9 / 12 9 / 12 2.4 xXE+3 1.3xE+4
Hin- ~ % & o i il & mgl ND ND ND /1 / 1] ND ND ND ND ND / 1 / 1[ND ND
P %= #*| mgll 1.70 0. 61 2.40 /12 / 12 1. 60 2.30 1.20 0.63 1.80 / 12 / 12 1.30 1.40
ES i mg/ 0.120 0. 062 0.220 /12| /12 0.110 0.130 0. 069 0.020 0. 160 /12| /12 0. 052 0.073
& i $ mgll / / / /
7 K 2 v A mgll / / < 0. 001 < 0. 001 < 0. 001 0/ 1]o/ 1
ES v 7 > mgll / / ND ND ND 0o/ 110/ 1
i mg/l / / < 0. 005 < 0. 005 < 0.005 |0/ 1[0/ 1
e ) mg/l / / < 0.02 < 0.02 < 0.02 0o/ 110/ 1
E F# mg / / < 0. 005 < 0. 005 < 0.0056 |0/ 1]0/ 1
i K 1 mgll / / < 0. 0005 < 0. 0005 < 0.00056 |0/ 110/ 1
7 L * ok # mgl / / ND ND ND 0/ 110/ 1
P C B mgll / / ND ND ND 0o/ 110/ 1
Y 7 v owm % & v mgl / / < 0. 002 < 0. 002 < 0.002 |0/ 1]0/ 1
] i it 23 #  mgll / / < 0. 0002 < 0. 0002 < 0.0002 |0/ 1]0/ 1
wlLe- ¥ 7 mow = ¥ o mgl / / < 0.0004 | < 0.0004 | < 0.0004 O/ 1]0/ 1
LI-Y 7 o =xF L mgl / / < 0.002 < 0.002 < 0. 002 0o/ 110/ 1
By a-L,2-v Jewnz?vy mol / / < 0. 004 < 0. 004 < 0.004 JO/ 1]0/ 1
CLL1- b s mom oz oy mgll / / < 0. 0005 < 0. 0005 < 0.0006 |0/ 1]0/ 1
HiLL,e- b ) 7 v v x4y mgl / / < 0.0006 | < 0.0006 | < 0.0006 |0/ 1]0/ 1
U 7 vne=xF L mgl / / < 0.002 < 0.002 < 0. 002 0o/ 110/ 1
R v anxzsL v mg/l / / < 0.0005 | < 0.0005 | < 0.0005 |0/ 1]0/ 1
L3-v Jew7 oA’y mgl / / < 0. 0002 < 0. 0002 < 0.0002 |0/ 1]0/ 1
5 v Z A mgll / / < 0.0006 | < 0.0006 | < 0.0006 |0/ 1]0/ 1
P4 < P4 > mgll / / < 0.0003 < 0. 0003 < 0.0003 10/ 110/ 1
F 4+ X v H A 7] mgl / / < 0. 002 < 0. 002 < 0.002 O/ 1]0/ 1
~ > + > mgll / / < 0. 001 < 0. 001 < 0. 001 0o/ 110/ 1
+ v > mgll / / < 0. 002 < 0. 002 < 0.002 |0/ 1]0/ 1
momEES LT e / / 0.26 0.26 0.26 |0/ 1{0o/ 1
5 - F# mgl / / 0.13 0.13 0.13 0/ 110/ 1
[ES 9 F|_mgll / / < 0.10 < 0.10 < 0.10 0/ 110/ 1
7 = /J — A  E mgl / / / /
H k0l mg/l / / / /
e ) mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Hiw v 7 v (% @) | mgl / / / /
7 =t 2 mgll / / / /
AR S 4 7+ > mgll 12.5 10. 17. /12| /12 12. 14. 15. 9.5 26. /12| /12 13. 16.
M B A S| mgll 0.01 < 0.01 0.02 / 4 / 4] < 0.01 < 0.01 0.01 < 0.01 0.01 / 4 / 4 0.01 0.01
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
. A A
H / / / /
. / / / /
/ / / /
/ / / /
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N #H R Ok = oK B OB O E OB B # & = GAIID 20114
KA - MU A - HER R — & OF Ealll JF R ok 012-75 KA L3k RS 013-01
Hox oo ok - M R 4 HiKa-p 3 7Ka=p R MRS HE HiKa-p 3 7Ka=p R HiLS S HEH 1
WO - E R MM - RO #E f-ei] A TERIYIH] 1 FREAE f-ei] B ERYIH] n FREAEL n
FHEEEI-L - 4 B - A 950 711k 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 2 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT T e/ M [EoN m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m (k) /n x/y ki 75%{i
5 | i & m's / / 0. 450 0.013 1.700 / 12 / 12
H ok T 17.2 4.8 32.5 / 18 / 6 17.1 4.5 29.9 / 12 / 12
SE B £ cm 37.0 19.0 50.0 / 18 / 6 38.0 17.0 > 50.0 / 12 / 12
p H - 1.6 1.0 9.1 1/18/0/ 6 1.5 1.1 1.1 1.3 8.9 1 /12|11 /12 1.6 1.7
D O mg/l 8.9 3.5 14.0 6 /18(2/ 6 8.3 1.2 11.0 7.0 16.0 0/12(0 /12 11.0 8.9
4 |B e} D| mg/ 2.3 1.6 3.3 1 /18] 4/ 6 2.2 2.4 4.6 1.2 11.0 8 /12|18 /12 3.5 4.7
iE | C o D mg/l 5.9 4.1 8.3 / 18 / 6 5.6 1.7 8.7 5.4 16.0 / 12 / 12 8.5 9.4
S S| mgl 10. 3. 19. 0/18/0/ 6 9. 15. 12. 5. 28. 1 /12|11 /12 12. 15.
AP A i3 %%/ mPN/100mI 5.4 xE+3 0.0xE+0 3.5xE+4[{10 / 18| 4/ 6 3. 0% E+3 6.4 xE+3 3.6 xXE+4 3.5 XE+2 2 4xE+51 7 /12 7 / 12 1.6 xE+4 3.5 xXE+4
Hin- ~ % & o i il & mgl / / ND ND ND / 1 / 1] ND ND
CRE %= #*| mgll 1.60 0.97 2.10 / 18 / 6 1.70 1.90 2.90 1.60 5.90 / 12 / 12 2.70 2.90
£ | mg/l 0.095 0.028 0.180 / 18 / 6 0.072 0. 150 0.330 0.170 0.510 / 12 / 12 0. 360 0.380
& i $ mgll / / / /
7 F s v 4 mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 om A (N fti )| mgll / / / /
t & mg/l / / / /
@ ER R mg/l / / / /
T v F L ok 4R mgl / / / /
P C B mg/ / / / /
Y s v v % % | mgl / / / /
W b o FE mgl / / / /
L2 ¥ 7 v oa = % v myl / / / /
LI-Y 7 woo=xF L ml / / / /
Bva-L2-v  Jewzfly mgl / / / /
LL1= b ) 7 e w Y mgll / / / /
HiLe- v ) 78wz ) v mol / / / /
U 27 v xF L mgl / / / /
S YT mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
Vi % 7 Al mg/l / / / /
D < D | mgll / / / /
F o+ X v B A 7 mgl / / / /
~ Dz ¥ > mg/l / / / /
+ % > mgll / / / /
o ﬁ% t e 2 my 0. 66 <002 110 [o/18/0/ 6 / /
5 > F# mgn / / / /
13 > % mgll / / / /
7 = 7 — v F mgl / / / /
k53 £ mg/l / / / /
e ) mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Bil= v v (% M) | mgh / / / /
7 [} 2 mgll / / / /
b2 F# 1 7 > mgi 15.6 8.5 35. / 18 / 6 16.4 20.3 17.7 10. 31. / 12 / 12 14. 21.
) m w7 4 v a ugl 11. 3. 30. / 18 / 6 9.5 15. / /
7oV % = 7 M #® # mgl 0.24 < 0.05 0.56 / 18 / 6 0.24 0.27 / /
b3 i3 E B mgll 0.042 0. 007 0.1 / 18 / 6 0.036 0.067 / /
M B A S| mgl / / 0.06 0.01 0.17 / 4 / 4 0.03 0.04
i / / / /
/ / / /
» / / / /
i / / / /
H / / / /
H / / / /
/ / / /
/ / / /
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=

A # B ok o # K B M T O#£ R K B =% Ga) 2011 4E
K 4 o A o — &S KA F i FILIE 014-02 S| FLEAE 015-01
ooxoo- ok - s 4 HRa-b 3 AKa=h* R 5K 1 HKa-} 3 AKa=h* R 5y 1
WO - E R MM - RO #E feu) TERIYIH] n FREAE n f-ei] A ERYIH] 1 FREAE n
HEFRa-N - 4 - B - 4 950 711 973 RMBAEREE (27 5ty 4 —) 980 1 [ 7 9 ki = 982 Y [l 5 i Je) D [ Bt < 5 P
WA X s - |k kW RERY 0 BRAOKIE 0.0 m AR 5y 0 BRAOKIE 0.0 m
— MEEA BT TR fiE e/ M [EoN m(k)/n| x/y ki 75%{F TEE e/ M [EON m (k) /n x/y ki 75%fE
|7k B /s 5.800 5.800 5.800 /1 /1 / /
H ok T 17.0 4.5 29.1 / 12 / 12 16.9 4.5 28.5 / 12 / 12
B # | om 44.0 18.0 > 50.0 /12| /12 92.0 53.0 > 100.0 /12| /12
p H - 1.5 1.3 8.2 0/12[0/ 12 1.5 1.5 1.6 1.3 8.2 0/12(0/ 12 1.6 1.8
D o mgll 10.0 6.9 14.0 0/12/0/ 12 9.8 8.9 11.0 8.7 12.0 0/12[0/ 12 1.0 9.8
4 |B e} D mg/l 3.6 1.5 1.2 2/1212/ 12 3.2 4.6 2.4 1.0 5.0 5/12|15 /12 1.9 3.1
& [C [ D mg/l 7.2 5.2 10.0 /12| /12 1.3 8.1 3.7 2.3 5.0 /12| /12 3.7 4.7
S S| mg/l 10. 6. 26. 0/12[0/ 12 9. 11. 5. 1. 10. 0/12(0/ 12 5. 6.
AP A i3 %%/ mPN/100mI 2.6 xE+4 1. 7xE+3 5. 4xE+4 / 12 / 12 2. 4 XE+4 3.5 xE+4 8. 0% E+3 4.9 xE+2 3.5 xE+4[11 / 12|11 / 12 3.9XE+3 7.9 xE+3
Hin- ~ % & o i il & mgl ND ND ND / 1 / 1] ND ND / /
CHE = #  mg/l 2.70 1.80 4.10 /12| /12 2.70 2.90 1.80 0.67 3.80 /12| /12 1.70 1.80
£ | mg/l 0.290 0.190 0.510 / 12 / 12 0.260 0. 340 0.180 0.062 0.390 / 12 / 12 0.160 0.260
& i $a mg/l / / 0.008 < 0. 005 0.013 / 4/ 4 0. 008 0.008
H K g v 2 mg/l < 0.001 < 0. 001 < 0. 001 0/ 1o/ 1 < 0. 001 < 0.001 < 0. 001 0/ 2[00/ 2
& v 7 > mgn | ND ND ND 0/ 10/ 1 ND ND ND 0/ 2[0/ 2
i) mg/l < 0. 005 < 0. 005 < 0. 005 0/ 110/ 1 < 0. 005 < 0. 005 < 0. 005 0/ 2(0/ 2
7w & (A ffi )| mgl < 0.02 < 0.02 < 0.02 0/ 10/ 1 < 0.02 < 0.02 < 0.02 0/ 2[0/ 2
E F&| mg/l < 0. 005 < 0. 005 < 0. 005 0/ 110/ 1 < 0. 005 < 0. 005 < 0. 005 0/ 2(0/ 2
@ 7k | mg/ < 0.0005 | < 0.0005 | < 0.0005 [0/ 1[0/ 1 < 0.0005 | < 0.0005 | < 0.0005 |0/ 2[00/ 2
7 L % Kk # mgh | ND ND ND 0/ 110/ 1 / /
P C B| mgl | ND ND ND 0/ 10/ 1 ND ND ND 0/ 2[0/ 2
Y 7 w ow * & v mgl < 0.002 < 0. 002 < 0.002 0/ 110/ 1 < 0.002 < 0.002 < 0. 002 0/ 2(0/ 2
Mo b k% mgll < 0.0002 | < 0.0002 | < 0.0002 [0/ 1[0/ 1 < 0.0002 | < 0.0002 | < 0.0002 |0/ 2[00/ 2
L2 ¥ 7 v oa = % v myl < 0. 0004 < 0. 0004 < 0.0004 O/ 1|0/ 1 < 0. 0004 < 0. 0004 < 0.0004 |0/ 2(0/ 2
LI-Y 7 v =xF L myl < 0.002 < 0. 002 < 0002 [0/ 1[0/ 1 < 0.002 < 0.002 < 0.002 |0/ 2[0/ 2
By a-1,2-v  Jwozxfvy mgl < 0.004 < 0. 004 < 0. 004 0/ 110/ 1 < 0.004 < 0.004 < 0. 004 0/ 2(0/ 2
CLLI- b ) 7w oa oz y v mgh < 0.0005 | < 0.0005 | < 0.0005 [0/ 1[0/ 1 < 0.0005 | < 0.0005 | < 0.0005 |0/ 2[00/ 2
HiLe- v ) 78wz ) v mol < 0. 0006 < 0. 0006 < 0.0006 [0/ 1]0/ 1 < 0. 0006 < 0. 0006 < 0.0006 |0/ 2(0/ 2
KU 7 maxF L mgl < 0.002 < 0. 002 < 0002 [0/ 1[0/ 1 < 0.002 < 0.002 < 0.002 |0/ 2[0/ 2
R FEF 7oz F Ly myl < 0. 0005 < 0. 0005 < 0.0005 {0/ 1[0/ 1 < 0. 0005 < 0. 0005 < 0.0005 |0/ 2(0/ 2
L3~y Jren 7 wa’ Y mgl < 0.0002 | < 0.0002 | < 0.0002 [0/ 10/ 1 < 0.0002 | < 0.0002 | < 0.0002 |0/ 2[0/ 2
7 v 7 Al mg/ < 0. 0006 < 0. 0006 < 0.0006 [0/ 1]0/ 1 < 0. 0006 < 0. 0006 < 0.0006 |0/ 2(0/ 2
> ~ B > mgh < 0.0003 | < 0.0003 | < 0.0003 [0/ 10/ 1 < 0.0003 | < 0.0003 | < 0.0003 |0/ 2[0/ 2
F A N v 7 mgl < 0.002 < 0. 002 < 0. 002 0/ 110/ 1 < 0.002 < 0.002 < 0. 002 0/ 2(0/ 2
~ v + > mgll < 0. 001 < 0. 001 < 0.001 [0/ 1[0/ 1 < 0. 001 < 0. 001 < 0.001 |0/ 2[0/ 2
+ % | mg/l < 0.002 < 0. 002 < 0.002 0/ 110/ 1 < 0. 001 < 0.001 < 0. 001 0/ 2(0/ 2
momEES LT e 1.50 1.50 150 [0/ 1[0/ 1 1.30 0.611 230 |0/ 40/ 4
5 ) F&| mg/l 0.32 0.32 0.32 0/ 1o/ 1 0.09 < 0.08 0.1 0/ 2(0/ 2
3 P %  mg/l < 0.10 < 0.10 < 0.10 0/ 110/ 1 0.04 0.03 0.04 0/ 20/ 2
7 = /J — A  E mgl / / / /
P 3l mgll / / < 0.004 < 0. 00 < 0. 00 0/ 2| / 2
B |1 # moh / / / /
Hogk (W M )| mgl / / / /
Bil= v v (% M) | mgh / / / /
7 =t 2 mgll / / / /
b2 ES A 7 > mgh 23.5 13. 44. / 12 / 12 22.5 28. 9.33 6. 15. / 12 / 12 1.75 11.
7 v % = 7 M % # mgl / / 0.29 < 0.05 1.2 /12| /12 0.09 0.1
EN I - / / 0.19 0.17 0.21 / 2 / 2 0.19 0.21
b B / / 2. 0.6 6.8 /12| /12 1.3 1.8
E B = i J£| mS/m / / 17. 14. 23. / 12 / 12 16. 17.
b ) oA e A b v K BE mgll / / 0.14 0.104 0.182 / 4 /4 0.14 0.148
/ / / /
o / / / /
- / / / /
H / / / /
H / / / /
/ / / /
/ / / /




N #H R Ok = oK B OB O E OB B # & = GALn 20114

K4 - MR A o — &S S| WG 015-51 Sl ollk 015-52

Hox oo ok - M R 4 HiKa-p 3 Ka=}" R HiLS S HEH 2 HiKa-p 3 Ka=}" R HiLS S HEH 2

WO - E R MM - RO #E f-ei] A TERIYIH] 1 FREAE n f-ei] A ERYIH] 1 FREAE n

WY R - 4 SR - 4 980 U [ Hl 7 H i 982 70 ] s 7 i ) T (=1t 5 7 980 DU [ Hh 5 He i 7 982 70 ] s 7 i ) I [t 5 7

N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m

— MEEA BT TR fiE e/ M [EoN m(k)/n| x/y ki T5%fE TEE e/ M [EON m (k) /n x/y ki 75%{i

5 | i & m's / / / /

H [k wooc 15.5 3.0 26.0 /12| /12 16.7 5 21.0 /12| /12

SE B £ cm 94.0 55.0 > 100.0 / 12 / 12 97.0 58.0 > 100.0 / 12 / 12
p H - 1.1 1.3 8.1 0/12[0/ 12 1.7 7.9 1.1 1.3 8.5 0/12(0/ 12 1.6 1.8
D O mg/l 12.0 9.4 13.0 0/12[0/ 12 12.0 11.0 11.0 8.5 13.0 0/12(0 /12 12.0 9.9

4 |B e} D| mg/ 1.0 0.6 1.7 0/12[0/ 12 1.0 1.1 0.9 < 0.5 1.5 0/12(0/ 12 0.9 1.1

iE | C o D mg/l 2.6 1.3 3.3 / 12 / 12 2.6 3.1 2.3 1.2 4.1 / 12 / 12 2.2 2.8

S S| mgl 3. < 1. 9. 0/12[0/ 12 2. 3. 3. < 1. 9. 0/12(0/ 12 3. 4.

AP A i3 %%/ mPN/100mI 3.5 xE+3 1. 1xE+2 2.4xE+4| 3 /121 3/ 12 4.9 xXE+2 7.9 xE+2 2.0xE+3 2.3 xE+2 9.2xE+3| 4 /12| 4 / 12 7.9 xE+2 2.4 xXE+3

Hin- ~ % % >~ fif th % & mgll / / / /

P %= #*| mgll 0.91 0.71 1.30 / 12 / 12 0.84 1.00 1.00 0.63 2.00 / 12 / 12 0.91 1.10
ES | mg/l 0.026 0.008 0.037 / 12 / 12 0.028 0.030 0.039 0.016 0. 062 / 12 / 12 0.039 0.047
ES iffi f mg/l 0. 006 < 0. 005 0.008 / 4 / 4] < 0. 005 < 0. 005 < 0.005 < 0. 005 < 0. 005 / 4 / 4] < 0. 005 < 0. 005
7 K g v Al mg/l < 0.001 < 0. 001 < 0. 001 0/ 20/ 2 / /

ES v 7 > mgll ND ND ND 0/ 20/ 2 / /

#n mg/l < 0. 005 < 0. 005 < 0. 005 0/ 210/ 2 / /
7 wm A (A i ) mg/l < 0.02 < 0.02 < 0.02 0/ 2[0/ 2 / /
= F&| mg/l < 0. 005 < 0. 005 < 0. 005 0/ 210/ 2 / /
W K R mgl/l < 0. 0005 < 0. 0005 < 0.0005 [0/ 2[{0/ 2 / /
7 L * Kk mgn / / / /
P C B/ mgl | ND ND ND 0/ 2|0/ 2 / /
Y 7 w ow * & v mgl < 0.002 < 0. 002 < 0.002 0/ 210/ 2 / /
] i it 23 #*| mgll < 0. 0002 < 0. 0002 < 0.0002 {0/ 2[{0/ 2 / /

L2 ¥ 7 v oa = % v myl < 0. 0004 < 0. 0004 < 0.0004 [0/ 20/ 2 / /
LI-Y 7 o =xF L mgl < 0.002 < 0.002 < 0.002 0/ 20/ 2 / /

WV A-L2-v Jowozfvy mgl < 0. 004 < 0.004 < 0.004 |0/ 2|0/ 2 / /

L= b ) ez p oy mgll < 0. 0005 < 0. 0005 < 0.0005 [0/ 2[{0/ 2 / /

BlL1,2- b ) 70 v x4 Y mon < 0. 0006 < 0. 0006 < 0.0006 [0/ 20/ 2 / /

H U 7 vne=xF L mgl < 0.002 < 0. 002 < 0.002 0/ 20/ 2 / /

FEF 7oz F Ly myl < 0. 0005 < 0. 0005 < 0.0005 [0/ 2|0/ 2 / /
L3-v Jew7 oA’y mgl < 0. 0002 < 0. 0002 < 0.0002 {0/ 2{0/ 2 / /
Ea v 7 Al mg/ < 0. 0006 < 0. 0006 < 0.0006 [0/ 2|0/ 2 / /
P4 < P4 > mgll < 0. 0003 < 0. 0003 < 0.0003 [0/ 2[00/ 2 / /
F A+ X v B A 7| mgl < 0.002 < 0. 002 < 0.002 0/ 210/ 2 / /
~ > ¥ > mgll < 0. 001 < 0. 001 < 0. 001 0/ 20/ 2 / /
+ % > mgil < 0.001 < 0. 001 < 0. 001 0/ 210/ 2 / /
o ﬁ§ﬁ ‘%ﬁﬁ FANT 0.70 0.595 0.80 |0/ 4/0/ 4 0.79 0.752 083 |0/ 4|0/ 4
5 ) F&| mg/l < 0.08 < 0.08 < 0.08 0/ 210/ 2 / /
[ES bl | mgll 0.05 0.03 0.06 0/ 20/ 2 / /
7 = /J — A  E mgl / / / /

I3 il mg/l < 0.004 < 0.00 < 0.00 0/ 2 / 2 / /

e ) mg/l / / / /

Hoge  ( @m fg M ) | mgll / / / /

Bl v v Cwmtt) | mgl / / / /

7 =t 2 mgll / / / /
b2 F# 1 %+ > mgi 6.05 4.5 9.1 / 12 / 12 5.5 6.8 7.07 5.1 11. / 12 / 12 6. 8.5
7oy % = 7 M ® F mgl 0. 051 < 0.05 0.06 / 12 / 12] < 0.05 < 0.05 0. 051 < 0.05 0.06 / 12 /12| < 0.05 < 0.05
EN I - 0. 065 < 0.05 0.08 / 2 / 2 0. 065 0.08 0.13 0.11 0.14 / 2 / 2 0.13 0.14
W EE 1.4 0.2 3.8 / 12 / 12 1.1 1.3 1.2 0.3 4.3 / 12 / 12 0.8 1.4
& B = i £ mS/m 14. 11. 18. / 12 / 12 13. 14. 15. 11. 22. / 12 / 12 15. 15.
. / / / /
/ / / /

» / / / /

i / / / /

H / / / /

= / / / /

/ / / /
/ / / /




N #H B OK B O K B A O F OB B #£ # =X GAIID 20114
KA - MU A - HER R — & OF [N WG 016-01 &)l VNGl 017-01
Hox oo ok - M R 4 HiKa-p 3 7Ka=p R MRS HE HiKa-p 3 7Ka=p R HiLS S HEH 1
WO - E R MM - RO #E feu) E TERIYIH] 1 FREAE f-ei] A ERYIH] 1 FREAEL 1
FEFEE-N 4 TR - & 950 7111 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT TR fiE e/ M [EoN m(k)/n| x/y ki 75%{F TEE e/ M [EON m (k) /n x/y ki 75%{i
5 | i B om’/s 0. 300 0.053 0.790 / 12 / 12 0.310 0. 0086 1.200 / 12 / 12
Tk R T 16.9 1.1 28.7 /12 /12 17.1 2.6 28.5 /12| /12
SE B £ cm 42.0 14.0 50.0 / 12 / 12 48.0 25.0 > 50.0 / 12 / 12
p H - 1.6 1.0 8.3 0/12[0/ 12 1.6 1.8 1.5 1.2 1.1 0/12(0/ 12 1.5 1.6
D O mg/l 11.0 8.5 14.0 0/12[0/ 12 11.0 10.0 10.0 1.7 14.0 0/12(0 /12 9.4 9.1
4 |B e} D| mg/ 3.7 1.8 5.9 0/12[0/ 12 3.4 4.9 1.8 < 0.5 4.2 3/1213/ 12 1.4 1.9
iE | C o D mg/l 8.4 5.3 16.0 / 12 / 12 8.1 9.2 4.1 2.6 6.1 / 12 / 12 4.1 4.7
S S| mgl 12. 2. 44. / 12 / 12 12. 16. 5. 1. 20. 0/12(0/ 12 3. 5.
AP A i3 %%/ mPN/100mI 3. TxE+4 1. 7xE+3 9.2 xE+4 / 12 / 12 3.5 xE+4 5. 4xE+4 1.9 xE+4 7.9 xE+2 5. 4xE+4|11 / 12[11 / 12 4.5 XE+3 3.5 xXE+4
Hin-~ % % > Mt E mol / / ND ND ND / 1 / 1] ND ND
CRE %= #*| mgll 3.30 1.70 4.60 / 12 / 12 3. 60 3.70 2.30 1.10 3.40 / 12 / 12 2.20 2.80
£ | mg/l 0.430 0. 260 0.780 / 12 / 12 0.410 0. 550 0.220 0.150 0. 300 / 12 / 12 0.190 0.270
£ i $ mgll / / / /
H K g v Al mg/l / / < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1
S v 7 > mgll / / ND ND ND 0/ 110/ 1
i) mg/l / / < 0. 005 < 0. 005 < 0. 005 0/ 110/ 1
e ) mg/l / / < 0.02 < 0.02 < 0.02 0/ 110/ 1
3 F|  mg/l / / < 0. 005 < 0. 005 < 0. 005 0/ 110/ 1
i K R mgl/l / / < 0. 0005 < 0. 0005 < 0.00056 |0/ 110/ 1
7 v F A K R mgl / / ND ND ND 0/ 110/ 1
P C B mg/l / / ND ND ND 0/ 110/ 1
Y 7 w ow * & v mgl / / < 0.002 < 0. 002 < 0.002 0/ 110/ 1
] i it R F#|  mgl/l / / < 0. 0002 < 0. 0002 < 0.0002 |0/ 1]0/ 1
L2 ¥ 7 v oa = % v myl / / < 0. 0004 < 0. 0004 < 0.0004 O/ 1]0/ 1
LI-Y 7 o =xF L mgl / / < 0.002 < 0.002 < 0.002 0/ 110/ 1
By a-L,2-v Jrevzfry mgl / / < 0.004 < 0. 004 < 0. 004 0/ 110/ 1
CLL1- b s mom oz oy mgll / / < 0. 0005 < 0. 0005 < 0.0005 |0/ 110/ 1
HiLe- v ) 78wz ) v mol / / < 0. 0006 < 0. 0006 < 0.0006 |0/ 1]0/ 1
U 7 vne=xF L mgl / / < 0.002 < 0.002 < 0.002 0/ 110/ 1
R FEF 7oz F Ly myl / / < 0. 0005 < 0. 0005 < 0.0005 |0/ 1]0/ 1
L,3-v Jww7 oA’y mgl / / < 0. 0002 < 0. 0002 < 0.0002 10/ 110/ 1
Vi % 7 Al mg/ / / < 0. 0006 < 0. 0006 < 0.0006 |0/ 1]0/ 1
P4 < P4 > mgll / / < 0.0003 < 0. 0003 < 0.0003 10/ 110/ 1
F A+ X v B A 7| mgl / / < 0.002 < 0.002 < 0. 002 0/ 110/ 1
~ > + > mgl/l / / < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1
+ % > mgil / / < 0.002 < 0. 002 < 0.002 0/ 110/ 1
momEES LT e / / 1.10 1.10 110 [0/ 1|0/ 1
5 ) F|  mg/l / / 0.16 0.16 0.16 0/ 110/ 1
[E3 9 3| mgl/l / / < 0.10 < 0.10 < 0.10 0/ 110/ 1
7 = 7 — v F mgl / / / /
k53 £l mg/l / / / /
e # moh / / / /
Hoge  ( @m fg M ) | mgll / / / /
Hiw v 7 v (% @) | mgl / / / /
s =] A mgll / / / /
b2 F# 1 7 > mgi 16.3 10. 23. / 12 / 12 17. 20. 15.5 1.7 36. / 12 / 12 12.5 19.
M B A S| mgll / / 0.02 < 0.01 0.05 / 4 / 4 0.01 0.01
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
i / / / /
H / / / /
H / / / /
/ / / /
/ / / /
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N #H R Ok = oK B OB O E OB B # & = GAIID 20114
KA - MU A - HER R — & OF &)l TR 1 017-75 BN 4 LR 018-01
Hox oo ok - M R 4 HiKa-p 3 7Ka=p R MRS HE HiKa-p 3 7Ka=p R MRS HE 1
WO - E R MM - RO #E feu) TERIYIH] 1 FREAE f-ei] B ERYIH] n FREAEL n
FHEEEI-L - 4 B - A 950 7111 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT TR fiE e/ M S KA m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m (k) /n x/y ki 75%{i
5 | i & m's / / 0.220 0.014 0. 840 / 6 / 6
H ok wC 18.0 5.5 32.2 / 6 / 6 16. 6 3.0 21.17 / 12 / 12
SE B B cm 50.0 > 50.0 50.0 / 6 / 6 47.0 20.0 > 50.0 / 12 / 12
p H - 1.5 7.1 8.0 0/ 6/0/ 6 1.4 1.7 1.5 1.2 8.0 0/12(0/ 12 1.5 1.7
D O mg/l 10.0 9.1 11.0 0/ 60/ 6 10.0 9.5 9.2 5.7 15.0 0/12(0 /12 1.4 7.0
4 |B e} D mg/l 1.5 0.9 2.3 1/ 6|1/ 6 1.5 1.7 3.3 1.2 6.6 6 /12|16 /12 3.1 4.0
iE | C o D| mg/l 4.0 3.0 4.7 / 6 / 6 4.1 4.2 6.0 3.4 10.0 / 12 / 12 6.0 6.4
S S| mg/l 2. 1. 3. 0/ 6/0/ 6 2. &, 6. 1. 24. 0/12(0/ 12 5. 6.
AP L7 i3 %%/ MPN/100mI 5.6 xE+2 7.9 xE+1 24xE+3| 1/ 6/ 1/ 6 2. 3XE+2 3.5 XE+2 2.9xE+4 1.3xE+2 1.6xE+5| 9 /121 9 / 12 1.3xE+4 3.5 xXE+4
Hin-~ % % > Mt E mol / / ND ND ND / 1 / 1] ND ND
CRE = # mg/l 0.77 0.47 0.96 / 6 / 6 0.82 0.91 3.70 2.10 6. 00 / 12 / 12 3.70 4.10
£ | mg/l 0.017 0. 009 0.021 / 6 / 6 0.019 0.021 0. 360 0.210 0.530 / 12 / 12 0.370 0. 440
S i $i  mg/l / / / /
7 F s © A mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 o A (N fli )| mgl / / / /
t & mg/l / / / /
W K R’ mg/l / / / /
T v F L ok 4R mgl / / / /
P C B mgl / / / /
Y 7 w ow * & v mgl / / / /
Moo b g F mgl / / / /
g lL2e- ¥ 7 mom = & v mgl / / / /
LI-Y 7 woo=xF L ml / / / /
Blva-1,2-v  Jeuwzxfvy mgl / / / /
CLL,1- b ) s e w by mgl / / / /
HiLe- v ) 78wz ) v mol / / / /
U 7 vne=xF L mgl / / / /
H:;rﬁyuu::a‘—v‘/ mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
= v B A mgh / / / /
P2 < P > mgll / / / /
F A+ X v B A 7| mgl / / / /
~ P2 + > mgll / / / /
+ % > mgll / / / /
o ﬁ% t e 2 my 0.38 0.19 0.50 |0/ 6/0/ 6 / /
5 = | mgll / / / /
13 > % mgll / / / /
7 = /) — L E mgl / / / /
k53 £ mg/l / / / /
P gn mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Rl v % v (% mH%) mg/l / / / /
7 I 2 mgll / / / /
b2 ES A 7 > mg/l 4.57 3.6 5.2 / 6 / 6 4. 65 4.8 92.8 24. 200. / 12 / 12 89. 130.
J woow 7 4 b a pgl 2.8 < 2. 4. / 6 / 6 2.5 4. / /
7oV % = 7 M #® # mgl 0.077 < 0.05 0.11 / 6 / 6 0.075 0.1 / /
i3 i3 E #E mgll 0.0038 < 0.003 0.007 / 6 / 6 0.003 0.004 / /
M B A S| mgll / / 0.03 < 0.01 0.09 / 4 / 4 0.02 0.02
s / / / /
/ / / /
» / / / /
- / / / /
H / / / /
H / / / /
/ / / /
/ / / /




=

a #* A K B K H OB EF # R & B = Gain 201148
K4 - MR A o — &S SLEJ WA 019-01 SLEJ EE 1 1 5MARHER 019-51
Hox oo ok - M R 4 HiKa-p 3 Ka=}" R HiLS S HEH 1 HiKa-p 3 Ka=}" R HiLS S HEH 2
MR - ok WM - OE E utl R AT 1 HERE A n R A R AT 1 HERE A n
HEERa-N 4 M- - 4 950 71|15 973 RMIHRAME (=27 oWk 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— i H B T /Ml PN m(k)/n| x/y [N 75 M /Ml PN m(k)/n | x/y [N 75
5 | i & m's 0.230 0.054 0. 600 / 1 / 11 0. 230 0. 0052 0. 980 / b / b
H [k W T 17.8 3.4 30.0 /12| /12 16.5 3.0 28.8 / 6] / 6
SE B £ cm 46.0 12.0 > 50.0 /12 / 12 48.0 37.0 > 50.0 / 6 / 6
p H - 1.9 7.3 8.4 0/12/ 0/ 12 7.9 8.1 7.4 1.2 1.1 0/ 6/0/ 6 1.4 1.6
D O mg/l 11.0 8.4 15.0 0/12[0/ 12 11.0 9.9 12.0 9.0 15.0 0/ 6/0/ 6 12.0 11.0
% |B o D| mgll 3.2 1.0 5.1 10 / 12{10 / 12 3.1 4.1 2.5 1.3 4.9 3/ 6/3/ 6 2.1 2.5
iE | C o D mg/l 6.4 3.0 9.3 /12 / 12 6.3 6.9 4.8 3.6 5.9 / 6 / 6 5.0 5.3
B[S s| mgll 9. 2. 37. 1/12[1 /12 7. 1. 5. 2. 14. 0/ 6/0/ 6 4. 4.
AP A i3 %%/ mPN/100mI 1.9xE+4 1.3xE+3 9.2xE+4|12 / 12|12 / 12 9.2 XE+3 2.4 xE+4 2.5 xE+4 5. 4 xE+3 5 4xE+4| 6 / 6| 6/ 6 2.4 xXE+4 3.5 xXE+4
Hln- ~ % % o~ fill th & mgl | ND ND ND /1 / 1] ND ND ND ND ND /1 / 1[ND ND
P %= #*| mgll 2.80 1.50 4.00 /12 / 12 2.90 2.90 / /
ES #  mg/ 0.290 0. 150 0.610 /12| /12 0.210 0. 400 / /
& i $ mgll / / / /
7 K 3 v A mgll < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1 / /
ES v 7 > mgll ND ND ND 0/ 1o/ 1 / /
i mg/l < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
7 m & (A~ fti )| mgl < 0.02 < 0.02 < 0.02 0/ 110/ 1 / /
= # mg/ < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
W K R mgl/l < 0. 0005 < 0. 0005 < 0.0005 {0/ 1[0/ 1 / /
7 L % Kk # mgh | ND ND ND 0/ 110/ 1 / /
P C B mgll ND ND ND 0/ 1o/ 1 / /
Y 7 w v % % ] mgl < 0.002 < 0. 002 < 0.002 |0/ 110/ 1 / /
] i it J2d #*| mgll < 0. 0002 < 0. 0002 < 0.0002 {0/ 1[0/ 1 / /
@lL2- ¥ 7 v = & v mgl < 0.0004 | < 0.0004 | < 0.0004 fO/ 1[0/ 1 / /
LI-Y 7 o =xF L mgl < 0. 002 < 0. 002 < 0. 002 0/ 10/ 1 / /
WV A-L2-v Jowozfvy mgl < 0. 004 < 0.004 < 0.004 |0/ 110/ 1 / /
CLL1- b s mom oz oy mgll < 0. 0005 < 0. 0005 < 0.0006 {0/ 1[0/ 1 / /
HiLL,e- b ) 7 v v x4y mgl < 0.0006 | < 0.0006 | < 0.0006 {0/ 1[0/ 1 / /
U 7 vne=xF L mgl < 0. 002 < 0. 002 < 0. 002 0/ 110/ 1 / /
R v anxzsL v mg/l < 0.0005 | < 0.0005 | < 0.0005 [0/ 1]0/ 1 / /
L3-v Jew7 oA’y mgl < 0. 0002 < 0. 0002 < 0.0002 {0/ 1[0/ 1 / /
5 v 7 4 mgll < 0.0006 | < 0.0006 | < 0.0006 |0/ 110/ 1 / /
P4 < P4 > mgll < 0. 0003 < 0. 0003 < 0.0003 [0/ 1[0/ 1 / /
F 4+ X v H A 7] mgl < 0.002 < 0. 002 < 0.002 o/ 1[0/ 1 / /
~ > € > mgll < 0. 001 < 0. 001 < 0. 001 0/ 10/ 1 / /
+ v > mgll < 0.002 < 0. 002 < 0.002 [0/ 1]0/ 1 / /
momEES LT e 1.70 1.70 170 [0/ 1[0/ 1 / /
5 - # mg/ 0.42 0.42 0.42 0/ 110/ 1 / /
[ES bl | mgll < 0.10 < 0.10 < 0.10 0/ 1o/ 1 / /
7 = 7 — L E ml / / / /
P &l mg/l / / / /
e ) mg/l / / / /
gk (@ fg v ) | mol / / / /
Bl v v Cwmtt) | mgl / / / /
s =] A mgll / / / /
% 4 7+ > mgll 43.6 13. 99. /12| /12 33.5 50. 42.2 14. 76. / 6] / 6 36.5 60.
M B A S| mgll 0.05 0.01 0.11 / 4 / 4 0.04 0.07 / /
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
- / / / /
ﬁ / / / /
B / / / /
/ / / /
/ / / /
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N #H R Ok = oK B OB O E OB B # & = GAIID 20114
KW 4 - H R A& o — &S BRI 3 A 009-01 BRI i o AR 009-51
Hox oo ok - M R 4 HiKa-p 4 7Ka=p R HiLS S HEH 1 HiKa-p 4 7Ka=p R HiLS S HEH 2
MR - ok WM - OE E utl R AT 1 HERE A 70 utl A R AT 1 HERE A 70
FTEERI-L - 4 SRR - & 950 71|15 973 RMIHRAME (=27 oWk 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— i H B T /Ml PN m(k)/n| x/y [N 75 FEIfE /Ml PN m(k)/n | x/y [N 75
5 | i & m's 0.870 0.270 1.500 /12 / 12 0.610 0. 260 0.770 / 6 / 6
H [k W T 17.4 5.6 21.3 /12| /12 17.1 1.5 26.7 / 6] / 6
SE B £ cm > 50.0 > 50.0 > 50.0 /12 / 12 > 50.0 > 50.0 > 50.0 / 6 / 6
p H - 1.8 7.4 9.1 1/12[1 /12 1.7 7.8 7.8 1.2 9.2 1/ 6|1/ 6 7.6 7.9
D O mg/l 11.0 9.2 14.0 0/12[0/ 12 11.0 9.6 11.0 9.0 13.0 0/ 6/0/ 6 12.0 9.2
% |B o D| mgll 1.3 0.5 2.5 2/1212 /12 1.2 1.5 1.3 < 0.5 2.6 1/ 6|1/ 6 1.2 1.6
iE | C o D mg/l 3.4 2.1 5.0 /12 / 12 3.4 4.1 3.1 2.3 3.7 / 6 / 6 3.2 3.5
B[S s| mgll 3. < 1. 1. 0/12/ 0/ 12 3. 5. 2. < 1. 3. 0/ 6/0/ 6 2. 3.
AP A i3 %%/ mPN/100mI 1.6 xE+4 1. 7xE+2 9.2xE+4| 9 /121 9 / 12 2. 3XE+3 1.3 xE+4 1.4 xE+4 1.3 xE+3 5 4xE+4| 6 / 6| 6/ 6 3.9XE+3 1.7xE+4
Hln- ~ % % o~ fill th & mgl | ND ND ND /1 / 1] ND ND / /
P %= #*| mgll 1.70 1.40 1.90 /12 / 12 1.70 1.80 / /
ES i mg/ 0.110 0. 056 0.200 /12| /12 0.098 0. 140 / /
& i $ mgll / / / /
7 K 2 v 4 mgll < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1 / /
ES v 7 > mgll ND ND ND 0/ 110/ 1 / /
i mg/l < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
7 m & (A~ fti )| mgl < 0.02 < 0.02 < 0.02 0/ 110/ 1 / /
= # mg/ < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
W K R mgl/l < 0. 0005 < 0. 0005 < 0.0005 {0/ 1[0/ 1 / /
7 L % Kk # mgh | ND ND ND 0/ 110/ 1 / /
P C B mgll ND ND ND 0/ 1o/ 1 / /
Y 7 w v % % ] mgl < 0.002 < 0. 002 < 0.002 [0/ 1]0/ 1 / /
] i it 23 #*| mgll < 0. 0002 < 0. 0002 < 0.0002 {0/ 1[0/ 1 / /
@lL2- ¥ 7 v = & v mgl < 0.0004 | < 0.0004 | < 0.0004 fO/ 1[0/ 1 / /
LI-Y 7 o =xF L mgl < 0.002 < 0. 002 < 0.002 0/ 110/ 1 / /
WV A-L2-v Jowozfvy mgl < 0. 004 < 0.004 < 0.004 |0/ 110/ 1 / /
CLL1- b s mom oz oy mgll < 0. 0005 < 0. 0005 < 0.0005 {0/ 1]0/ 1 / /
HiLe- v ) 78wz ) v mol < 0.0006 | < 0.0006 | < 0.0006 {0/ 1[0/ 1 / /
U 7 vne=xF L mgl < 0.002 < 0. 002 < 0.002 0/ 110/ 1 / /
R v anxzsL v mg/l < 0.0005 | < 0.0005 | < 0.0005 [0/ 1]0/ 1 / /
L3-v Jew7 oA’y mgl < 0. 0002 < 0. 0002 < 0.0002 {0/ 1]0/ 1 / /
5 v 7 4 mgll < 0.0006 | < 0.0006 | < 0.0006 [0/ 1]0/ 1 / /
P4 < P4 > mgll < 0. 0003 < 0. 0003 < 0.0003 [0/ 1[0/ 1 / /
F 4+ X v H A 7] mgl < 0.002 < 0. 002 < 0.002 o/ 1[0/ 1 / /
~ > ¥ > mgll < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1 / /
+ v > mgll < 0.002 < 0. 002 < 0.002 [0/ 1]0/ 1 / /
momEES LT e 1.10 1.10 110 o/ 1|0/ 1 / /
5 - # mg/ < 0.08 < 0.08 < 0.08 0/ 110/ 1 / /
[ES bl | mgll 0.10 0.10 0.10 0/ 10/ 1 / /
7 = 7 — v F mgl / / / /
% T mg/l / / / /
e ) mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Bl v v Cwmtt) | mgl / / / /
s =] A mgll / / / /
AR S 4 7+ > mgll 13.5 6.7 24. /12| /12 12.5 18. 10.6 5.9 17. / 6] / 6 9.3 15.
M B A S| mgll 0.01 < 0.01 0.01 / 4 / 4] < 0.01 < 0.01 / /
/ / / /
/ / / /
/ / / /
it / / / /
/ / / /
» / / / /
- / / / /
ﬁ / / / /
B / / / /
/ / / /
/ / / /




N #H R Ok = oK B OB O E OB B # & = GAIID 20114
K4 - MR A o — &S o I 3 PRI B A BT 009-65 PR LIRS 010-01
HooxXoo- K . s o HiKa-p 4 7Ka=p R MRS HE 2 HiKa-p 4 7Ka=p R MRS HE 1
WO - E R MM - RO #E feu) TERIYIH] 1 FREAE 70 f =g B ERYIH] 1 FREAEL 70
FHEEEI-L - 4 B - A 950 7111 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT T e/ M S KA m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m(k) /n x/y ki 75%{i
5 | i & m's 0.430 0.150 0. 660 / 6 / 6 / /
Tk R T 16.6 1.5 25.8 / 6 / 6 18.0 4.9 28.4 /12| /12
SE B B cm > 50.0 > 50.0 > 50.0 / 6 / 6 > 50.0 > 50.0 > 50.0 / 12 / 12
p H - 1.6 1.2 8.0 0/ 6/0/ 6 1.6 1.8 1.8 1.2 8.7 1 /12|11 /12 1.8 1.8
D O mg/l 11.0 9.1 13.0 0/ 60/ 6 11.0 9.5 12.0 7.9 15.0 0/12(0 /12 13.0 10.0
4 |B e} D| mg/ 2.0 0.6 3.3 3/ 63/ 6 2.1 3.2 1.4 0.7 3.0 0/12(0/ 12 1.4 1.7
iE | C o D| mg/l 3.4 1.3 4.5 / 6 / 6 3.6 4.3 3.8 2.4 5.3 / 12 / 12 3.7 4.4
5 S S| mgll 2. < 1. 3. 0/ 6/0/ 6 3. 3. 3. 1. 8. 0/12|0/ 12 3. 4.
AP L7 i3 %%/ MPN/100mI 1.4 xE+4 3.5 XE+2 b.4xE+4| 4/ 6/ 4/ 6 3.0XE+3 2. 4xXE+4 1.3xE+4 3.5 XE+2 b.4xE+4| 5 /12| 5/ 12 3.0XE+3 2. 4xXE+4
Hin-~ % % > Mt E mol ND ND ND /1 / 1] ND ND ND ND ND / 1 / 1] ND ND
CRE %= #*| mgll / / 1.70 1.30 2.40 / 12 / 12 1.60 1.80
£ | mg/l / / 0.120 0.042 0.210 / 12 / 12 0.093 0.120
& i $ mgll / / / /
7 F s © A mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 om A (N fti )| mgll / / / /
E % mgll / / / /
W 7K £ mgll / / / /
7 v F A K R mgl / / / /
P C B mgl / / / /
Y 7 w ow * & v mgl / / / /
Moo b g F mgl / / / /
g lL2e- ¥ 7 mom = & v mgl / / / /
LI-Y 7 woo=xF L ml / / / /
Blva-1,2-v  Jeuwzxfvy mgl / / / /
CLL,1- b ) s e w by mgl / / / /
HiLe- v ) 78wz ) v mol / / / /
U 7 vne=xF L mgl / / / /
H—'frﬁyuu::a‘—v‘/ mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
= v B A mgh / / / /
P2 < P > mgll / / / /
F A+ X v B A 7| mgl / / / /
~ P2 + > mgll / / / /
+ % > mgil / / / /
W e / / / /
5 = | mgll / / / /
[E3 > % mgll / / / /
7 = /) — L E mgl / / / /
k53 i) mg/l / / / /
P gn mg/l / / / /
W g ( w % ) mg/l / / / /
Rl v % v (% mH%) mg/l / / / /
7 [} 2 mgll / / / /
b2 F# A 7 > mgi 9.98 5.2 17. / 6 / 6 8.2 15. 13.7 1.9 25. / 12 / 12 12.5 17.
/ / / /
/ / / /
/ / / /
/ / / /
s / / / /
/ / / /
» / / / /
- / / / /
H / / / /
H / / / /
/ / / /
/ / / /
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N #H R Ok = oK B OB O E OB B # & = GAIID 20114
K4 - MR A o — &S i) RERIMTZGE K F 025-01 i)l RIESEARIR A 025-53
Hox oo ok - M R 4 HiKa-p 4 7Ka=p R MRS HE 1 HiKa-p 4 7Ka=p R MRS HE 2
MR - ok WM - OE E SR R AT 1 HERE A 74 R B R AT 1 HERE A 74
FHEEEI-L - 4 B - A 950 711k 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m PR 0 FAKIE 0.0 m
— i H B T /Ml I KA m()/n | x/y [N 75%fiE FEfif /Ml PN (k) /n [ x/y [N 75%(E
5 | i & m's 0. 150 0.150 0. 150 / 1 / 1 0.170 0.038 0. 250 / 6 / 6
H [k wooc 18.3 3.4 29.2 /12| /12 17.1 1.5 25.7 / 6] / 6
SE B £ cm 38.0 21.0 > 50.0 / 12 / 12 48.0 37.0 50.0 / 6 / 6
p H - 8.2 1.3 9.4 5 /12| 5/ 12 7.9 8.9 1.6 1.4 8.1 0/ 6{0/ 6 7.6 1.1
D O mg/l 12.0 6.9 15.0 0/12[0/ 12 12.0 10.0 10.0 8.6 12.0 0/ 6/0/ 6 10.0 8.7
% |B o D| mgll 3.1 1.4 9.5 8/12| 8/ 12 3.2 3.3 2.1 1.0 5.6 2/ 6[2/ 6 1.8 4.6
iE | C o D mg/l 8.5 4.9 17.0 / 12 / 12 7.0 10.0 6.2 4.1 9.6 / 6 / 6 6.1 7.3
B[S s| mgll 8. 2. 16. 0/12/ 0/ 12 8. 12. 6. 4. 9. 0/ 6{0/ 6 5. 8.
AP A i3 %%/ mPN/100mI 1.4xE+4 3.5 XE+2 b.4xE+4| 5 /12| 5/ 12 3.5 XE+3 1.7xE+4 7.0xE+4 3.3XE+3 1.6xE+5| 3/ 6/ 3/ 6 4.8xXE+4 1.6 XE+b
Hln- ~ % % o~ fill th & mgl | ND ND ND / 1 / 1] ND ND / /
P %= #*| mgll 2.50 1.30 4.10 / 12 / 12 2.40 3.10 / /
& i mg/ 0. 340 0. 140 0.810 /12| /12 0.290 0.410 / /
& i $ mgll / / / /
7 F s v 4 mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 om A (N fti )| mgll / / / /
5 ESI] / / / /
% K & mgll / / / /
T v F L ok 4R mgl / / / /
P C B mg/ / / / /
Y s v v % % | mgl / / / /
] H oMb B FE mgll / / / /
L2 ¥ 7 v oa = % v myl / / / /
LI-Y 7 woo=xF L ml / / / /
Bva-L2-v  Jewzfly mgl / / / /
LL1= b ) 7 e w Y mgll / / / /
M- b ) /v o1 4y mgl / / / /
U 27 v xF L mgl / / / /
S YT mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
¥ v 7 A mg/ / / / /
D < D | mgll / / / /
F o+ X v B A 7 mgl / / / /
~ Dz ¥ > mg/l / / / /
+ % > mgll / / / /
B s / / / /
5 = EI] / / / /
[E P #  mo/l / / / /
7 = 7 — v F mgl / / / /
L £l mg/l / / / /
P #n mg/l / / / /
W g (. w f % ) mg/l / / / /
Bil= v v (% M) | mgh / / / /
7 [} 2 mgll / / / /
AR S 4 *+ > mgll 56. 8 10. 340. /12| /12 31. 46. 16.7 11. 24. / 6] / 6 15. 24.
M B A S| mgll 0.02 < 0.01 0.04 / 4 / 4 0.01 0.01 0.02 0.01 0.03 / 2 / 2 0.02 0.03
RN 0.22 0.12 0.34 / 4 / 4 0.22 22 / /
/ / / /
/ / / /
it / / / /
/ / / /
» / / / /
- / / / /
H / / / /
= / / / /
/ / / /
/ / / /
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=

N #H R Ok = oK B OB O E OB B # & = GAIID 20114
K4 - MR A o — &S — ORI S 032-02 —DHI N 032-51
Hox oo ok - M R 4 HiKa-p 4 7Ka=p R HiLS S HEH 1 HiKa-p 4 7Ka=p R HiLS S HEH 2
MR - ok WM - OE E utl R AT 1 HERE A 75 R D R AT 1 HERE A 75
HEERa-N 4 M- - 4 950 71|15 973 RMIHRAME (=27 oWk 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— i H B T /Ml PN m(k)/n| x/y [N 75 M /Ml PN m(k)/n | x/y [N 75
5 | i & m's 1.900 1. 300 2.500 / 2 / 2 / /
o |k W T 19.7 5.8 31.4 /12| /12 19.4 8.5 30.2 / 6] / 6
SE B £ cm 30.0 14.0 > 50.0 /12 / 12 37.0 18.0 > 50.0 / 6 / 6
p H - 1.5 7.3 1.1 0/12/ 0/ 12 1.4 1.5 1.5 7.3 1.8 0/ 6/0/ 6 1.5 1.1
D O mg/l 11.0 8.6 13.0 0/12[0/ 12 11.0 10.0 11.0 8.6 14.0 0/ 6/0/ 6 10.0 9.7
% |B o D| mgll 4.9 2.7 6.9 0/12/ 0/ 12 5.0 5.6 3.8 2.4 4.6 0/ 6/0/ 6 4.3 4.5
iE | C o D mg/l 8.6 5.2 13.0 /12 / 12 8.8 10.0 1.2 4.7 10.0 / 6 / 6 1.2 8.8
B[S s| mgll 15. 5. 35. 0/12/ 0/ 12 12. 19. 10. 3. 21. 0/ 6/0/ 6 1. 14.
AP W i3 %%/ MPN/100mI 4.6xE+4 1.4 xE+3 1.6 xXE+b / 12 / 12 2.4xE+4 2.4 xE+4 1.2 xE+4 5.4 xE+3 2.4 xE+5 / 6 / 6 4. 5xE+4 9.2xE+4
Hin- ~ % & o i il & mgl ND ND ND /1 / 1] ND ND / /
P %= #*| mgll 3.50 2.30 4.70 /12 / 12 3.70 3.80 / /
ES #  mg/ 0. 390 0.210 0. 850 /12| /12 0.320 0. 500 / /
& i $ mgll / / / /
7 K 3 v A mgll < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1 / /
ES v 7 > mgll ND ND ND 0/ 110/ 1 / /
i mg/l < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
7 m & (A~ fti )| mgl < 0.02 < 0.02 < 0.02 0/ 110/ 1 / /
= # mg/ < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
W K R mgl/l < 0. 0005 < 0. 0005 < 0.0005 {0/ 1[0/ 1 / /
7 L % Kk # mgh | ND ND ND 0/ 110/ 1 / /
P C B mgll ND ND ND 0/ 1o/ 1 / /
Y 7 w v % % ] mgl < 0.002 < 0. 002 < 0.002 |0/ 110/ 1 / /
] i it J2d #*| mgll < 0. 0002 < 0. 0002 < 0.0002 {0/ 1[0/ 1 / /
wlLe- ¥ 7 mow = ¥ o mgl < 0.0004 | < 0.0004 | < 0.0004 fO/ 1[0/ 1 / /
LI-Y 7 o =xF L mgl < 0. 002 < 0. 002 < 0. 002 0/ 110/ 1 / /
WV A-L2-v Jowozfvy mgl < 0. 004 < 0.004 < 0.004 |0/ 110/ 1 / /
CLL1- b s mom oz oy mgll < 0. 0005 < 0. 0005 < 0.0006 {0/ 1[0/ 1 / /
HiLL,e- b ) 7 v v x4y mgl < 0.0006 | < 0.0006 | < 0.0006 {0/ 1[0/ 1 / /
U 7 vne=xF L mgl < 0. 002 < 0. 002 < 0. 002 0/ 110/ 1 / /
R v anxzsL v mg/l < 0.0005 | < 0.0005 | < 0.0005 [0/ 1]0/ 1 / /
L3-v Jew7 oA’y mgl < 0. 0002 < 0. 0002 < 0.0002 {0/ 1[0/ 1 / /
5 v 7 4 mgll < 0.0006 | < 0.0006 | < 0.0006 [0/ 1]0/ 1 / /
P4 < P4 > mgll < 0. 0003 < 0. 0003 < 0.0003 [0/ 1[0/ 1 / /
F 4+ X v H A 7] mgl < 0.002 < 0. 002 < 0.002 o/ 1[0/ 1 / /
~ > ¥ > mgll < 0. 001 < 0. 001 < 0. 001 0/ 10/ 1 / /
+ v > mgll < 0.002 < 0. 002 < 0.002 [0/ 1]0/ 1 / /
momEES LT e 1.80 1.80 180 [0/ 1[0/ 1 / /
5 - F# mgl 0.09 0.09 0.09 0/ 110/ 1 / /
[ES bl | mgll < 0.10 < 0.10 < 0.10 0/ 1o/ 1 / /
7 = 7 — L E ml / / / /
% T mg/l / / / /
B M g mgll / / / /
H gk C W fg ¥ )| mgl / / / /
Bl v v Cwmtt) | mgl / / / /
s =] A mgll / / / /
AR S 4 7+ > mgll 22.7 10. 76. /12| /12 18. 24. 16.3 9.9 26. / 6] / 6 16. 19.
/ / / /
/ / / /
/ / / /
/ / / /
i / / / /
/ / / /
» / / / /
- / / / /
ﬁ / / / /
B / / / /
/ / / /
/ / / /




=

N #H R Ok = oK B OB O E OB B # & = GAIID 20114
K4 - MR A o — &S FEmI WO 033-01 FemI ARG 033-52
HooxXoo- K . s o HiKa-p 4 7Ka=p R MRS HE 1 HiKa-p 4 7Ka=p R MRS HE 2
WO - E R MM - RO #E feu) TERIYIH] n FREAE 75 f-ei] B ERYIH] n FREAEL 75
FHEEEI-L - 4 B - A 950 7111 973 REMIMRATHER (v =2 bt 2 —) 950 7)1 Ik 973 RMIMRATHER (v =2 it 2 —)
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— MEEA BT T e/ M S KA m(k)/n ]| x/y ki T5%fE TR fiE e/ M [EON m(k) /n x/y ki 75%{i
5 | i & m's 0. 200 0.014 0. 650 / 12 / 12 0.420 0. 091 1.200 / 6 / 6
H ok T 18.2 1.0 30.3 / 12 / 12 19.9 10.0 29.6 / 6 / 6
SE B B cm 49.0 33.0 > 50.0 / 12 / 12 > 50.0 > 50.0 > 50.0 / 6 / 6
p H - 1.4 6.8 9.0 1/12 / 12 1.3 1.4 1.4 7.1 1.6 0/ 6(0/ 6 1.4 1.4
D O mg/l 9.8 5.1 13.0 0/12[0/ 12 9.9 9.5 11.0 8.5 13.0 0/ 6/0/ 6 10.0 9.6
4 |B e} D| mg/ 0.9 < 0.5 2.1 0/12[0/ 12 0.9 1.1 2.3 1.1 4.0 2/ 6|/2/ 6 1.9 3.5
iE | C o D| mg/l 3.0 1.2 4.3 / 12 / 12 3.2 3.5 4.2 3.4 5.6 / 6 / 6 4.1 4.3
S S| mg/l 2. < 1. 6. 0/12[0/ 12 1. 2. 6. 3. 10. 0/ 6(0/ 6 6. 1.
AP L7 i3 %%/ MPN/100mI 4. 4 xE+3 2.0xXE+0 2.4xE+4[ 4 /12 4 / 12 1.7xE+3 5.4 xE+3 3. TxXE+4 1.3xE+3 1.6xE+5| 4/ 6/ 4/ 6 1.5 xE+4 2. 4xXE+4
Hin-~ % % > Mt E mol ND ND ND /1 / 1] ND ND ND ND ND /1 / 1] ND ND
CRE = # mg/l 3.30 1.00 5.70 / 12 / 12 3.40 4.20 / /
£ | mg/l 0.130 0. 066 0. 260 / 12 / 12 0.120 0.140 / /
& i $ mgll / / / /
7 F s © A mgl / / / /
ES v 7 > mgl/l / / / /
# mg/l / / / /
7 om A (N fti )| mgll / / / /
E % mgll / / / /
W 7K £ mgll / / / /
7 v F A K R mgl / / / /
P C B mgl / / / /
Y 7 w ow * & v mgl / / / /
Moo b g F mgl / / / /
g lL2e- ¥ 7 mom = & v mgl / / / /
LI-Y 7 woo=xF L ml / / / /
Bva-L2-v  Jewzfly mgl / / / /
LL1= b ) 7 e w Y mgll / / / /
HiLe- v ) 78wz ) v mol / / / /
U 7 vne=xF L mgl / / / /
H—'frﬁyuu::a‘—v‘/ mg/l / / / /
L3-v Jwewe7 w5’ v mgl / / / /
= v B A mgh / / / /
P2 < P > mgll / / / /
F A+ X v B A 7| mgl / / / /
~ P2 + > mgll / / / /
+ % > mgil / / / /
W e / / / /
5 = | mgll / / / /
[E3 > % mgll / / / /
7 = /) — L E mgl / / / /
k53 i) mg/l / / / /
P gn mg/l / / / /
W g ( w % ) mg/l / / / /
Rl v % v (% mH%) mg/l / / / /
7 [} 2 mgll / / / /
b2 F# A 7 > mgi 9.75 4.7 14. / 12 / 12 10. 13. 11.8 1. 18. / 6 / 6 10.4 16.
M B A S| mgll / / 0.02 0.01 0.03 / 2 / 2 0.02 0.03
/ / / /
/ / / /
/ / / /
s / / / /
/ / / /
» / / / /
- / / / /
H / / / /
H / / / /
/ / / /
/ / / /
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N X B XKk # K B OB T # B £ B = Gal 20114E

K 4 Mo A - HOR R — & F fRIE)1 ElAIE /S NS 034-01 fRIE)1 Al ok S b 034-51
Hox oo ok - M R 4 HiKa-p 5 7Ka=p R HiLS S HEH 1 HiKa-p 5 7Ka=p R HiLS S HEH 2
WMOAL - B ORR WM - FROE O utl B R AT 1 FREARE 76 utl B R AT 1 FREARE 76
FEFEE-N 4 TR - & 950 )11 972 R pERS 950 & )I16 972 R pERS
N R S S S TR XSy 0 FAKIE 0.0 m TR XSy 0 FAKIE 0.0 m
— i H HLAT T i/ M SR m(k)/n| x/y gfiE 75 M i/ M [ToN m()/n | x/y gfiE 75
5 | i & m's / / 0.190 0.025 0. 630 / 5 / 5
o |k W T 16.1 5.0 21.5 /12| /12 15.1 4.0 25.0 / 6] / 6
SE B £ cm > 50.0 > 50.0 > 50.0 /12 / 12 > 50.0 > 50.0 > 50.0 / 6 / 6
p H - 7.9 1.2 8.9 2/1212 /12 7.6 8.4 1.7 1.2 8.2 0/ 6/0/ 6 1.7 7.8
D O mg/l 11.0 8.4 14.0 0/12[0/ 12 10.0 9.8 12.0 9.4 13.0 0/ 6/0/ 6 12.0 10.0
7 |B o D| mgll 2.3 0.7 5.3 3/121 3/ 12 1.8 3.0 1.3 < 0.5 2.4 0/ 6/0/ 6 1.2 2.1
iE | C o D mg/l 5.0 2.4 1.3 /12 / 12 5.1 5.9 3.8 1.8 6.2 / 6 / 6 3.3 5.7
B[S s| mgll 6. < 1. 12. 0/1210/ 12 6. 1. 2. < 1. 6. 0/ 6/0/ 6 1. 3.
AP A i3 %%/ mPN/100mI 2.1 xE+4 2.4 xXE+2 9.2xE+4| 6 / 12| 6 / 12 9. 0% E+3 2.4 xE+4 7.3 xE+3 3.5 XE+2 24xE+41 3/ 6] 3/ 6 3.0XE+3 1.3xE+4
Hin- ~ % & o i il & mgl ND ND ND /1 / 1] ND ND / /
P %= #*| mgll 1.40 0.73 2.20 /12 / 12 1.20 1.80 / /
ES i mg/ 0.120 0. 035 0. 200 /12| /12 0.110 0.120 / /
& i $ mgll / / / /
7 K 3 v A mgll < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1 / /
ES v 7 > mgll ND ND ND 0/ 110/ 1 / /
i mg/l < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
s m A& (N fi )| mgh < 0.02 < 0.02 < 0.02 0/ 110/ 1 / /
= # mg/ < 0. 005 < 0. 005 < 0.0056 |0/ 110/ 1 / /
W K R mgl/l < 0. 0005 < 0. 0005 < 0.0005 {0/ 1[0/ 1 / /
7 L % Kk # mgh | ND ND ND 0/ 110/ 1 / /
P C B mgll ND ND ND 0/ 1o/ 1 / /
Y 7 v owm % & v mgl < 0. 002 < 0. 002 < 0.002 [0/ 1]0/ 1 / /
] i it J2d #*| mgll < 0. 0002 < 0. 0002 < 0.0002 {0/ 1[0/ 1 / /
wlLe- ¥ 7 mow = ¥ o mgl < 0.0004 | < 0.0004 | < 0.0004 fO/ 1[0/ 1 / /
LI-Y 7 o =xF L mgl < 0. 002 < 0. 002 < 0. 002 0/ 110/ 1 / /
WV A-L2-v Jowozfvy mgl < 0. 004 < 0.004 < 0.004 |0/ 110/ 1 / /
CLL1- b s mom oz oy mgll < 0. 0005 < 0. 0005 < 0.0006 {0/ 1[0/ 1 / /
HiLe- v ) 78wz ) v mol < 0.0006 | < 0.0006 | < 0.0006 {0/ 1[0/ 1 / /
U 7 vne=xF L mgl < 0.002 < 0. 002 < 0. 002 0/ 110/ 1 / /
R v anxzsL v mg/l < 0.0005 | < 0.0005 | < 0.0005 [0/ 1]0/ 1 / /
L3-v Jew7 oA’y mgl < 0. 0002 < 0. 0002 < 0.0002 {0/ 1]0/ 1 / /
5 v 7 4 mgll < 0.0006 | < 0.0006 | < 0.0006 [0/ 1]0/ 1 / /
P4 < P4 > mgll < 0. 0003 < 0. 0003 < 0.0003 [0/ 1[0/ 1 / /
F 4+ X v H A 7] mgl < 0. 002 < 0. 002 < 0.002 o/ 1[0/ 1 / /
~ > ¥ > mgll < 0. 001 < 0. 001 < 0. 001 0/ 110/ 1 / /
+ v > mgll < 0.002 < 0. 002 < 0.002 [0/ 1]0/ 1 / /
TR ElES y
W e / / / /
5 - F# mgl 0.25 0.25 0.25 0/ 110/ 1 / /
[ES bl | mgll < 0.10 < 0.10 < 0.10 0/ 110/ 1 / /
7 = 7 — L E ml / / / /
I il mg/l / / / /
e ) mg/l / / / /
Hoge  ( @m fg M ) | mgll / / / /
Hlve v v (W te) | mgl / / / /
s = 2 mgl / / / /
AR S 4 7+ > mgll 13.8 9.6 21. /12| /12 12.5 16. 8.62 6.3 9.8 / 6] / 6 9.05 9.4
M B A S| mgll 0.02 0.01 0.03 / 4 / 4 0.02 0.03 / /
MU o~ Ak v Bk fE mgll 0.13 0. 081 0.2 / 4 / 4 0.13 0.13 / /
/ / / /
/ / / /
it / / / /
/ / / /
» / / / /
- / / / /
ﬁ / / / /
B / / / /
/ / / /
/ / / /
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